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eaggm.'m:r:_‘ aflens aflflllér 2 erenr Cpialldls wrfled ( Nm? C-2),

' 4an
4 B —
A "o ) €0
€0 1
Q 4an | D) 4ne
‘Coulomb law of force involves with proportionality constant ( Nm?2 C~2)
' _ 4n
A 4meg ' B) T,
: €o 1
O I Dl Zme,
S0 P Gipupenaniier swvwgdé emoyb Blerargsso
-\ zero B) 4"—-3——1':50 r
_ © Ane,r D) 4Rre , . 2r°

- The potential at the centre of an electric dipole is

.- : . g
A) zero B) .41teor
_29_ \ 9
= 4ne,r ‘D) 4me, . 2r°

_ A S04
N c=gt B = -4 -
Egd d
9 C=Z D C=¢ga |
‘Capacity ofa parallel plate capacitor is given by :
l A "_' E’OA ’ :
A C = B €=4g -
_ eo‘d _.d
C) C':*‘X" D), C—EOA.
 giber efiflong
I : I
A VeR B R-y
C)-I-.—-VR; D} V = IR
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According to Ohm's law
I I
A} vV = ﬁ B] R = _\-f
Q) I=VR | D) V = IR

5. Guégui eleveney eredtugl

A)

B)

Q)

D)

g6 St Hdérafliplenlidr spdlaer CeuciCoup chuugﬁlmeouﬁleo BYmEGD
Gurg @ Laaiusealans Q_@mrr&.e.uu@eﬂgog

QmumﬂmmﬂngL ol Gu lﬂGDTGGbTITI_.L_LD utyd Gure @msbdle@sd
Qeutiuiu@H L@ S erpe

Qaiu fatellyieol wflCu HaGariid urybGurg 86 &bg
@ehitalisasuu@ipg. wysphd QeuULiu@ssliuHpg.

- Qenin Blamargrer aufiCuw BleérCearm i urybCury Gosbdlsenbd

@ehiralls&astu@dspent .

Peltier effect corresponds to

A)
B)
Q0

D)

at different temperatures of thermocouple junctions e.m.f. is generated
when current is sent through a thermocouple, both junctions get heated

when current is sent through a thermocouple, one junction gets heated up
and the other junction gets cooled up

when current is sent through a thermocouple, both junctions gets coolid.

6. oCr syerey BlerGarmi b GG et sLsflaeh anflCu Qadgun GCurg

o
B)
0
D)

SieupPleCu rityeleane ghuGn

SeupieoCu aflewsGaleans ghuBid

Sicupilen Cu wr‘ruqaﬂm&(ﬁﬁn alevsg aleveCur ghuLmg

@ el uphs saparelbes sHad CurgionaIsTs Bldeme.

When same amount of current flows through parallel wires in the same
direction, then

4

B)
o)
D}

xx [1601'

wires will attract each other
wires will repel each other
neither attraction nor repulsion extsts

data is insufficient to prediét the type of interaction.
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&
i; Induced e.m.f. appears when
. _ %f A *‘magnet is kept near a solenoid .
'“ﬁ ; B) ,a set-up containing solenoid and magnet is moved-at a constant speed
Y ‘. il C)' a constant current flows through the solenoid
: L;? { - D) the current through the solenoid decays at a constant rate.
s 8. &Lpeo L&GNGGU‘IH'L.LLB 2_(HEUR SHLLHS
I " A) lﬂGUfE:L.ﬁgGO ‘ L B) eygreso_é
(o)) %@@m - D} GuiblerGerm Lib.
¢ ! Eddy current is generated by
};El A) conduction ' B}  induction
-l R & convection | D) direct current.
. | Qi‘.' N, N @mm@m QB ESTaIDE SHI, Qmméﬁm@&,aaﬂm o doraflgans wihgid 1, I, '
y R @psmp@m Sisubies t&m@mm_t_iﬁmmrraaoqnb BohaTe GG Qpee Bemorpiide '
A N>N ,15<Ip . B)'. NS>NP;IS>IP
‘EC) N<N;I<I | DI N,<N,: I,>1,
:i;l CIf N,.N, * are numbcrs of turns in the prirnary and secondary respectively and
LR and I, are currents in the primary and sccondary then in the step-down
: .7': transformer .
: A N>N,i I <l, B N,>N,:I,>I,
N <N N <I - D) NS<NP;IS>IP
< ’ ld ¢ a_L_q@é]mmr TR TS GSHISGD
‘ ﬁwmﬁmmmnfw:gna@m ST HSHOLLTSHGSD LeobHiD@Dd @sm_@u.m.\ﬂm B56)

@mmﬂm JeRILCLIT B sl Glamasd
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13.

Permeabllity means

A} ratio of magnetisation to magnetising field

B) ahgnmeﬁt of elementary particles

C)  degree of penetration of magnetic field

D) magnetic moment per unit volume.

Gt 1Dett s.élf'r&;eﬁ S wallesr Qple\n’n &L DbSE

A} yGyriLmensel B) | plerCLriyset
C) aedlyretsen , D) . a'—&é)ﬁ'a;sfr.

The study of positive rays helped in tﬁe discovery of

A}  protons B) isotopes

'C) electrons D} a-particles.

2 Garagdler Couame emiuedT aaug, Cgamanuret hHpe Cerhss
‘AJ X-g 4l seanen a_@mrré,@su.gl‘\ B

B) &@Jaﬂm-sur-é]mﬁéﬂ SieoLwé Gaieug

C) @Jcﬁ\maﬂ ey Gebeug) | .

D) 2 Cersl uptdldBhHE aesi FTemet Qmaﬂ@mp@ma

Work function of metal is the energy required

A)  to produce X-rays

B) to excite an atom

C) to explore an atom

D) to eject an electron from metal sﬁrface.
seflfletr alleveney emiblmésend Syfeldamnd sgieuid

A 2 psb | B) fleop

O Qyj)gpe'ﬁ _ | D) Garaw apsb.
The photoelectric effect is based upon the conservation of _
A Momentum B) Mass

C) Energy D}  Angular momentum.
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14. oapgge fiporoads, Spsscn dausdls ag U-V uedls 2 g 2
~ 1 A oD . B} uméior |
C} umlsesn _ ' D) dpgrésl.
-~ In hydrogen spectrum, which of the following series lies in U-V region ?
A ' Lyrnan . | B) Balmer
| C) ' Pé.schcn R . ) D) Brackett.
15, QeusLmi cg{gjmné]rﬂ Sl ETitbg @BUug
A siggedgeier yCTLLmefler paitay
- B) @sml_a.‘ﬂ@m | A
Q) sréﬁém'__ljl'rso‘ﬂc&t S|EoTL D (DHYID g,tj)'errbp;beﬂ @mrrc_qbn_mrréa.ﬂuu.’_i_y
D) @mp@eﬂ ergieyblcoeney.
Vector atom maodel is based on
AJV préotox_l motion in a.n atom

B) interaction

bl

C) ﬁpaﬂal ahd spin quantisation of electrons
D) n'o:n‘e of these.
16. Wedsafar Gergaren @émg; el ﬁ]@tﬁ]é,asuqu_g
| Al e aflenerey Bl gefflar alwerey
SO eoLmid efeeney D) smbilen efleveney.

i ‘Millikan experiment is a proof for

“A) Zeeman effect B)  Photoelectric effect
C} ' Stai‘k effect D) Compton effect. 5
!
2 17. G&wmn@um@ Sjgr wrdf syenoiy smgiag

A &p@uuwmglﬁm srms,l_grrasﬂm HeangBauad gpedlullesn @m&@mag@rp@& FOLTGD | B
'B) | SEESHE sra)é.t_gnem m@@m@m urens® defreu L LT BTG ‘
o (G5B (HEDe TE&L T el &Ij)ﬂS]ﬁJ@L.DV uTeng mLLn'Jurrsuﬁu.nrr@nb
D_) @eubpeir srgcutﬂém»m. , 4
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Sommerfeld atom model assumes
A) the velocity of an electron in an orbit equals that of sound
'B) the path.of an electron arpund the nucleus is an ellipse
C) ‘the path of an electron around the nucleus is a circle
D} none of these. , ' .
18. £ alleeney e - |
A srpsuyesde Hporoe auflsed spsarsn dfssiu@dpg
-B) ey dic @bmnmm aflee sapsaral fssiu@dng
Q)  esmpsiyeddd Hpwrane mrﬂq‘.dr sapsenral flumwelGlug
D) Jderyasdle diporeae cafiaer enpaerral Sfluroedmiug.
Zeeman eﬂ'ectr is |
A}  splitting of a spectral liné under the action of magnetic field
B) splitting of a spectral line under the action‘of electric field
C) ' no splitting of spectral line in the magnetic field
D) | no splitting of spéctral line in the electric field. : ‘

19. &Curi CusallLmet age Joveras Ceuaudng 7

A arhy Geueoa Helusdpe B der Qoyoer geuusdpd
Q) eanmhsiywsbladiey .- D) Jdeyes Qe
Bohr magneton is the unit of
A)  magnetic dipole moment - B} electric dipole moment
C] magnetic intensity . D)  electric infensity.
20. g Spn&ed geoaderd A arsdtug | m = Blen, v = laveGousmid | -
' h hv
A e - B m ,
R b5
de Broglie wavelength A is ['m = mass, v = velocity |
h hv
A o B
Cm mh
Q) ho D) o -
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‘ 21,; _L Bemh lDl_D[DjLD reyb Qersoi. o sblllldr whgenad Y @lyleerideor 2.
¢ -‘a&&mlﬂuﬁlaﬂ dend topbpild ATHOS (yssmgo(BuJ L/2 mlj)um r/2 ereot @mm&@tﬂ@m@@
l i gty u.n&n@am&u: ,
"A) Y/2 - 'B)'Y
; g:) 2Ysj o | D) 4y.
t 'I'he Young's modulus of a wire of length. L and radius ris Y newton per square
u metre. If the length is reduced to L/2 and radius r/2, its Young's modulus will
f‘E be. . '
m A‘ Y/z B Y
§ :iiC) 2y ! ‘ 4 D) 4Y. .
22. 100 Qs uf perd wppd 4 WS Hod OCsrdo. ge sblbldr Cuaperear
= G\un‘@ﬁguuu@sﬂmg a];em DQILpERET 30° Gorampdlpe sphnid QuUrsl, SiBeT
. Gamemor e@ds@
‘*IA)' 122 B 012°
‘o 1 2°~f 4 D) 0012°.
The upper end of a wire of radius 4 mm and length 100 cm-is clamped and its
. ;i?ther end is tvvistegl t!fnpugh an angle of 30°. Then angle of shear is
;A)" 120 B) 012°
cl 120l 1 A D) 0.012°.
23. 9@ surnqeﬁ][g@ uS'L.ﬂ e
A @@ﬁ@w
"B) ' @@mmmnwr uéeﬂm Qcm.aulf,\a»wﬂm (D B\B&E@D -
C) | @@@m@mrrcm eurru.;aﬂg)@ uat.@fn @@éﬁ@w
DIl gosens: xﬁ
' ﬁe elasticity}imit fora gasA \ _
A) exists ‘ ‘ ’ B) exists only at absolute zero
‘ C}g ; exists for a perfect gas D) does not exist. '
24. ﬁrr@smsn ul;rud]eu Guoginins @absiLBd G @by 2aré) Dp&dps. gGareiié
A) g,mcouf’@a@err @@é&@,ﬂ)@un@@ i3l Qmaﬂu@égm B BT [Elsm;pmwaﬂl_
LS .giélaau)rra: Leﬁm@
B} ; sipss a;n..r‘rgsﬁl [Erﬂem ap..u’r;bé’l@m ol @eopeuns 2.eeng
; C; YT J.IIJ‘L!L.{ Bluallens aryemrore
. D) et é&l@LDL'JLﬂGﬂT SN GOUDTE .
u b . A t 16001 [ Turn over
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25,

26.

27.

An iron needie slowly pk'aced on the surface of water floats on it, because
A} when inside the water it will displace water more than its weight

B) the density of the material of needle is less than that of water

. C) of its surface tension

D) of its shape.

QUh  HIOTLEm P @gprruﬂsu o etem  Flyeu WL @aﬂgbglerrm Qure &, g
61§rr®(35rrmw° '

A 90° gflmwrs @@&@m ' B} 90° genpeurs Elh&GD

C‘) 90° gwwrs @@é&@m - D) 0° BwrTE EiméEh.

The liquid meniscus ih a capillé.ty tube will be convex, if the angle of contact is -
A}  greater than 90° B) | less than 90°

O equafto 90° D) equal to 0°,

&Cp allpd wvepsgefliedr wdod ﬂm&@m&m TR  ETENEL Gn_.@aﬂg)gl.
g '

A arpher Cué SWHHD

B) srpifier urgaleemu QUbGILITipg: |

C) ‘LJIJ'L;JLI Blpallen g Wier aflemareurs: A

D) euefloco s dleyieren a,rrrj)@a':r @I;L,_Cfﬂ&dl:.

The terminal velocity of falling raindrop attains limiting value, because of

A} upthrust of air 'B) viscous force exerted by air

. C) surface tension effects D) air currents ln atmosphere.

Qialiemfler @gdm.mb allfoug, @ Corefidr wrprg Lty HeavsCaumwrarg, SiHeST
ahs SPelerenn Gownrg alflilsr alleersurs :

A aupps B Gemamn 2 bsid
C) Cpr&Gsri® 2-hsab D) Qebge ggapdidow.

Kepler's second law regarding constancy of aerial velocity of a planet is a
consequence of the law of conservation of

A)  energy "~ B}  angular momentum

C} lnear momentum : D} none of these.

XX i 1601 . 18001
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28. @rﬂuwcsﬂl_;&@,ﬁ)gj yblller odlau s Ln_gbgnb GoDhsUls grrhse wenGu r
" wppd 1, aaflée, sipar gryd, eMuali_Blepbg aeruiu@D amerey urenguler ey
-G\[_I‘)L'.L.G'-é]&;@ Qletigdse 2_aier Gurg -

. r\+7, : , | T1Ta
A ( 4 ) ' : B) (rl+r2]
L 2r:,l ry T +r,

. C) (;‘;Trzj . D) ‘(—3 .

* The largest and the shortest distance of the earth from the sun are.r, and r, .

Its distance from the sun when it is at the perpendicular to the major axis of the
orbit drawn from the sun is

T S . . r,ry '
A [ 4 ) Bl '[F-:"‘rz]
- 2";1'2 . Fy*+7,
o (%) o (75

29. &pssaon. eursdluliaaerd seuelfl :

. _‘ gapp (A) - ueflggmarser whpib m@kpésg;eﬂa:dr §Cy fymen Qm&@m&ﬁ@t.cm
‘ ghde olpdpg. .

ST EOTID {R) : gresms afapb aqanmgy Qurr@a.'_as@é,@in eremL | &Shub.

[

a?@g) G\arr@e,eauu:_@enm @,nﬂuf@asefr wab sfurer aflon_ows Cetbshes :
A (A Loipmjm (R) @qm@m s, Gmgum (R) ereirLigy (A) @ sfuren allensab
B) (A wppid (R) Gyeor®id s, Gugid (R) ererug) (A) allpe sflurer allerasode '
a A &rf],‘q;euure’o (R) geumy ' '
D) - (A) san, e (R) &fl.
_ Consider the following statements : .
. o Assertion (A) Snow flakes and raindrops fall to earth with a uniform velocity.
Reason (R): . All freely fal]ing objects have zero weight.
s - Of these statements
A) Both {A) and (R) are true and (R} is the correct explanation of (A
B] Both (A) and (R) are true, but (R) is not the correct explanation of (A)
) -(A)is true, but (R)1s false I |
Dj ,‘(A) is false, but (R) is true.
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30.

31.

32,

33.

g get e aparvs SiugCu @@e’a@mnmn’é, gt allamencurs wellgaflan
STeL eTeLeUTD @)HHSD 1

A 2 wmbd B}  @opyb

<) bmprrgd D) @eubpet agapfidvene.

If earth stands still, what will be its effect on man's weight ?

A) Increases . B) Decreéses

C) Remains the same - D) } None of these.

QeauiLGlussailiud aerug

Al Geutugdlen aqel;a»cu DTG

B) @mt‘.numrrrj;rpib
Q) Qmuﬁ 2, Dpemes whDaues Hhpers wWrHHIeE

D) Hevevnrhpib.

Thermodynamics mostly deals with

A) measurement of quantity of heat

B} transfer of heat

C) conversion of heat to other forms of energy

D) change of state. o

6 sriam Quibdyb, Qardsanaicdmba 3000 £ sCarflas Qaulugmg, 627°C
Qaiugleadles Qupg 27°C Gauuufaedle ghilée Car@sdlipg. aofld
Quidlysard Gebwiul . Caane

A 42 x 106 goe | B} 84x10°goe

C) 168 x 106 goe | D) & _

A Carnot engine takes in 3000 k calories of heat from a reservoir at 627°C and
gives it to a sink at 27°C. The work done by the engine is

A 42x10%y B) 84 x 106 J

C) 168x1064J D)  zero.

gdoreni oy GOUBHSEE SseT - QaliuBleeewu 0°C & @ohe 4°C & &
2 wir b uwe : '

A Cc,=cC, B C,>C,
Qo c¢,<cC, D) C,-C,=R

X% 16001
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Wy j
i . When watt_er is heated from 0°C to 4°C, then
A C,=cC, | "B C,>C,

1§;-=.,§CI cl<c, D C,-C,=R

34 | 65 @sﬂrr&rrgsaru w1y
' --:'.' - A) Qmuu@mr,bﬂgm

- . by

I B} 9@ L&aﬂ Gumriimt
- ' C} ﬂm@mrrs;@ ﬂmmﬁlm Bubgh Geuin @turj,ﬁgu)
r‘ D} aTHm @61ﬂuurrem
i A refrigerator is a / an
A heat en.:glne.
B] electric motor |
Q) heaé engine working in backward direction

4

;"'D) air cooler

- xf

35 mn'u{ @eur@sm 3{5 2D a..u.l@é]gpgi, GILIT g smﬂsv
A) @muumm_r)r_&_gyp Blapeller argeamiors cﬁltﬂmm_um Gurg

K

:]3)' Qmuumrrg)r_rfl_;gg) hlapadedr mrrqcummrraa a@ﬁguu@m Glurr@gj
‘C] g @muu,rf,\smeauﬂo.\ cﬁlrﬂuqm QuT s

D) 0 @muu@mmuﬁl@ SHWHLIBD Curs.

’I‘he internal energy of a gas will tncrease when it

A] expands adiabatically : B)  is compressed adiabatically

. C] expands lsothermally D)  is compressed isotherma]ly‘

1

36. &smmma:smrp a..uasgcmma,m surflé@hb Gurwsg, Uleéraumb Grgbﬁ Ggrnq. usu‘urqaadr
.- . &lﬂturrea Qurr@;bg;m 7

Al_ @anr.orm ﬁm Qe gpufipet ohpib Sifls Gl s pgid Hpdr
B @mwwﬁ §5‘°T Qe gpLgipesr wHpId GoDhe Caulu sLbgibd Spes
Q) .%‘ 2fls g gem @cuuu ghudpe whpid Sifle Qo s d Hpe

D) ‘, aié]as gew Qeulir ghuydlmesr wHpb GoOPHs Qmuu SL S é‘lpm

L !
x[1e01]! - i 16001 [ Tum over
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37.

38.

. 39.

For making cooking utensils, which of the following pairs of properties is most
suited ? '

A)  Low specific heat and high conductivity
B} Low specific heat and low conductivity

C) High specific heat and high conductivity.
D) High specific heat and low conductivity.

H® wellged quUTWEH GGLY Ioeg bILDbGSmeT gowrer GeuluwrsGeur
Sy @efipmeGeur 2_corBeuTet 2

A 984°C B) 984K

C) . 98-4°R ' D) 98.4°F.

A man would feel iron or wooden balls equally hot or cold at
Al 98.4°C ‘ B] 984K

C) 984°R | D) 98.4°F.

96 setsiy e swursddoss Swdps. seer Gubdy Kppsier urd

QeuliLioT & W HHULRHDONLIT S, %mmw_.q WPHDUTS 2 (H& sr[bg, Lmu&;é\m @\whg
alp Geuaist(id 2

A 700 SCi N B 78 i

C) 7088 | : D) 700 &.5.

A hail falls from a great height. If half of the mechanical energy is converted into
heat, from what height should it fall so that it melts completely ? -

A 700 m B) 7m

C) 70 km A D) 700 km.

GHwuefar Blpwrane Q_{,g')r,r)é'u uies® 6050 Qadailer Qealufleosn whpn 4753 A

sapasdle odleulsors o deag. aafle aps Caludoedis GG

Bl ssdlsdler oeearn 9506 A Qeeenureys, cgqg,cm Bipwree hDe UHEG
2ilawre QHEHSD 7

A) 6050 Qadaller | B) 3025 Gawellen

C) 12100 Qadailes | D) 24200 Q&daler,

The spectral energy distribution of the sun ( temperature 6050 K ) has

maximum at 4753 A. The temperature of a star for which this maximum is at
9506 A is

A 6050 K | B 3025K
C) 12100 K c ' D) 24200 K.
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a1,

15 SCVR

eréoeur GlubHens Pepeymelics, sisto_Sdlesn aretorgmoatd)
A)  bTpTbe 2 ereng | | | B  eauurqgb l@mgoé;tm@
Q). l'srUQurrq._pgub sdlsfeding D) sdlaflssard g @epuerbd.
In éli_natural processes.‘ the entropy of the universe '
Aj | remains constant B) always decreases

-0 ” always lnéreases _ D} may increase or decrease.
Qar@asuuce ahfle A fAohs B &6é Gedgd Cpre Lwer WlarGarrLb

{A®) .
" 10Q ,
A MW B
R
E1— '#: E,
10V 5V
A 1.5 B 1.0
C} 05 D) 2.5,
Net current from A to B in the given circuit (in A ) is
e
A ———— W B
R
By — —= Eg
10V 5V
4 1.5 B) 1-0
Q 05 ‘ D) 25.
42. wigdes SerGanmi sder sgraf vy
A 06371, B) 051,
0 o001, D) 101,
’ Average value of alternating current is
A 06371, . ‘Bl 051,
0 o001, D) 1.01,.
xx[1601] o 16001 | - | | Turn over
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43.

44.

45.

orydloe BarCamie abpy gardie Sldageo wppbd Bdarherewd QeTLi
Qeaniflée Qeoanssoul Beaaar. @EFaprfle daawsssdbed
D@L gdb@h 2 6ten s L CoupurQ ‘ a

T
A) 0} B) )

D) m-l(‘fb_);

Q. - .

NA

An a.c. circuit contains resistance and an inductance in series. Then in the
circuit phase difference between voltage and current is

T
A) ) B) 0

o - D) tan--l[-wg—').

N a

R .

9B uss @eoemiuy LCR spfle didgordiar wvgoy as goparaig.
gédlosale sgaphsr BlaGearmiLb whpw grésrye ( Q) apopGu

Al Qugpwd ; QUKD B) Qu@wbib : Hywd
C) Siguoid ; Qupobd D)  &puwoid ; Ao,

In a parallel LCR circuit the value of the resistance is small. Then at resonance
the current and the Q factor are respectively

A)  maximum ; maximum B) maximum ; minimum
C) minimum ; maxdmum ' D) minimum ; minimum,

d]eﬁT(Bsmrré@é &y Sfefeauu@d Quruweg oL Cur® gpeardler @m&&@é\is\mu
ugdlldr yseuld

A  eopdng

B) &@dpgl

C)  wrprwd GGSHDE

D) @ @fudi Lﬂs&t@émrrés@ \Blestent (oo HSD@TNebt HieGiyer ENOEALY: TN

. As the reverse bias of a junction diode is increased, the width of the depletion

region

A) decreases

B) increases

C} remains constant

D) increases suddenly after a particular reverse voltage.

X% 16001
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Lo e

| Q)  swens 5%551@5]

5y "~ Ripple voltg;:g'e is eliminated in a
_ } A} . half-wave rectifier

- ' "C) ‘bridge rectifier .

o e, Ui 1g ulgués Haieh Qurr@;b& af(‘.?g) Qasrr@és&UUL@e#m eflipaaens
he Qmem@ ﬂﬂimreur afles. eowb (Bg.d';b@g.@

uu_q,ubl

he
hfe
h
h

oe

re -

W w N e

4

. List1

hy
h
h

Je
re

h

oe

e
NI
[ R
1‘l | cl
0 i@
i L
1 efdpee
s e
SoA
R ‘at
& B 4}
v D). 3
PR
~ below :-
o , b
R
' 4 Codes :!
:‘.-}_.: o '|
R R
300Nt
L. B 4 .
| D) 3!
(1801
i 3 !

W W

Ll T /- R - ]

L - - I ;]

17
I | -

4146 Sesreugeusmsuplés srfid @ppee Herarppsb eopans ssherg)
S A ey smepfiesd

B siwepdesd
- D) euglurg et saqu Eimil.

i I

o

N o= N A A

B)  full-wave rectifier
D} . rectifier with filter.

uCqude I
SetnGeorrd Lﬂﬂ&f@@ﬁgﬂ CumEsD
G\?sy'dﬂufﬂ.-@_ 1Besr yganoFllimest

- parGarde BenGami Qupssin

2 _efrefi_ @ Wlsdr gy

R Mai':ch,-'u-t I correctly with Lht II and select your answer using the codes given

List I

© reverse voltage gain

output admittance

 forward current gain

input impedance

[ 'I‘urn_ over
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48. gf sedupPiis g ibs seliuppioms Gup Coevaunes Hiuppees

49.

50.

Al APp>1 Bl Af=1

0 ‘AB<1 D} AB=w.

Condition for sustained oscillation in an oscillator is

A ABP>1 B AB=1

C) AB<l L D) AB=e.

U PR v Guidl Lyullle f, aeug @some FTQuETmaYD |, aTuUg)
sentdl FITQeuctTeneTYD GHIHSTER g{uugmlﬂ@e&@[bgj Qleuafleumb &é]ﬁ@a,su'bmeﬁ
A f ol @b | B} f. wbod f_

O fefo=f, wboib [+, D) f.-f, wbpd fo+f,.

In anAM transmitter if f_ is the signal freqﬁe‘ncy and f_, the carrier

frequency. then the output of the transmitter contains.

A) f, alone B) f.andf,

O fefo~fs and S +f, D) f.-f, and f.+f,.
gm_}rrﬂsaw LWesT S(p&aeTmcuppier ergl 2

A pfudes Ceadpg

B) Beérsmhs o

Q) 'Q&u.l[b-somé@&,rrsﬂé&r gTrHens SensbHng

D) eofu gmidne Qe Qslla wrgaudadame.

The use of radar is

A) it passes through clouds
B) it is an electromagnetic wave
Q) ‘it measures satellite distance

D) its intensity does not alternate for short distances.

» | 16001
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51.

52.

53.

C)

19 SCVR
.ﬁr]rrasr aul L uurengiles 2 atem 6ph gusees @u.ué»a:fﬁ_ |

A  sre Hube Bubshb wppi fNaos Gusan

B sre PQEEG Qubsd g are Same Gussddoame
O Eos GuEsh geTé BTe GUNEG GubsiHdee

D) sre guiCHsT shng fMas Guastor Goeme.

The motion of a particle describing uniform circular motion is

A periodic and simple harmonic

B) - periodic but not simple harmonic

) fsimple harmonic but not periodic

D} .“ne‘ither periodic nor stmple harmonic.

@@ gieet A alési o SHM Gusssdle e arang. @L.uQuu.zﬂreé\ U6 a.enen@urrg;
S|t @mé&a& 2 hoa ( KE ) seb Curss 2boé (E ) $@b o eirer allflgio

A B)

P "“Mw

Q D)

. Qe e

A particle is executing linear SHM of amplitude A when the displacement is '23 :

_' The ratio of kinetic energy [ KE ) to the total energy ( E } is
LA

B)

D= N

D)

o L

@({5 Qurr@srﬂs&r Bz &0 HdaChrhsed, QG aléaaasib, g&:ﬁ.L_ Geuguur®n -
wHDD gapsdaTay Cehgdsraad 2oLy Q6 Fflens Qubshser

,Qemmu@aﬁlmmm gieeflest Qg;rr@u\ucm Bussbd

A alib B) GptaGsr@
¢ ﬁsnm._n_m | D) @ethmner el
A particle is acted upon by two perpendlcular SHM's of same periods, different

.} amplitudes and with phase difference of % 5 - The resultant motion of the particle

iis

S

A) circle. - " B) straight line

-C) ellipse : - D) none of these.
xx 16001 , o ‘(Tumc_)ver
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54. @6 Gsramm SULi sbdldlér seflpoadle g 66 CsrrsailOul Gerag. ©
. GessmayLe Geowen Sfialle 2 srerBurg sblidle Herd 40 Ga 8 @D, s
wpwaugb Bhe wppdysianGury sdlllar pidaman gita Berd 30 Qb B eé
Gondng. St LTSS

16 16
A g D B %
16 | ' 16 .
C) 3 D) = -

. A stone hangs from the free end of a sonometer wire whose vibrating length,
when tuned to a tuning fork is 40 cm. When the stone hangs wholly immersed
in water, the resultant length is reduced to 30 cm. The relative density of stone

is

16 16
A) 9 B) 5
' 16 16
Q) Y D) = -

55. Lﬂp&sﬁ@fo arsdlungamend solel ‘

L g6 oo g6 2 658Ghs LHCDTE 2assdlhest LuaflsgbCurg
21560 FTleuetor wTHTL BYHEHGD. '

1. sifls @saursde geider Camgdld gPUOD GOD JHUGST WSS
Gopaland ghudHng.

@m@geﬁ :
A Tol@b eflureoig B) o @b sflurerg
Q) lwhoyd I efurerteney | D) Ilul@id seuprerg.

Consider the following statements :

I.  The frequency does not undergo any change when a wave travels from
one medium into another. '

1I. The decrease in the speed to sound at high altitudes is due to a fall in

pressure.

of ﬂ1ese

A) 1alone is true : B) Il alone is true
C) BothlandIl afe true D) I alone is false.

xxi 1601| 16001 |
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'56 @@ G&rrsuml.d’l_l_rf &b BEEGD & @msmuﬂsurrrm Qe uedleeran

‘l Lﬂl‘ﬂ&:&sUUL.@GfTGﬁgl, 2oasalar perisefler Caugur®. wrppd 1 C&d S eb.
o oasoa @ty soupdled sfiTaps QelybCuryg aﬂcmrrl.q.és@ 1 aflbvere -
;. qr_\)u@ggjsﬂmmm sodlflér Qurgs derd 100 Qs.f  ererpred @@U@@&»aﬂm

‘{fg' aé\n@mmaeﬁ

i

A 5o Hz 51 Hz B)  50-5 Hz, 49-5 Hz
' 40) 49Hz.48Hz D) - 49-5 Hz, 485 Hz.

_ } ; Two parts of a sonometer wire, divided by a movable knife edge, differ in length
: ) by 1 cm and produce 1 beat per second when sounded together. If the total
length of the wire is 100 cm, the frequencies of the two parts of the wire are
[ 50 Hz, 51 Hz ~ B). 505 Hz, 495 Hz

?‘E""q 49Hz..48Hz D) 49-5 Hz, 485 Hz.

57 Auag)@;m Beastp @@ g qeliser Qar@seh pellaeflsr &ﬁﬁ@mm&eﬁ 680 Hz

! 2. QCalueut AN Ehg B ow Cpradl Uesarp frar Cauasded pacdlpmt.
b @eﬂuﬂm HersGeusip 340 5 &l ~ 1, Galuaut ai\asrm.q.a:@ 10 Gﬁlmmeuaasmsrra, Gal St
g STETDTS Ueﬁlaﬂ ity 2 ‘ _
A 29;6?951-1 B 258eal7!

“ic) 3.08e9-! - D)} 358a0°!.

‘ "I‘wo s‘oilrces A and B are sounding notes of frequency 680 Hz. A listener moves
. from A.to B with constant velocity U. If the speed of sound is 340 ms~ !, what
; must be the value of U so that he hears 10 beats per second ?

A 20ms | : © B 25ms-!
fC) 30ms-! DI 35ms-
58 ) Lmrr,rbg, sauhenp G{grr&,aﬂ 20 f o9~ ! Caungdle o vdwha wwalsdpg.

L '@L_(BLF,W sdliureears Glareasd 124 Hz o@tQeucmenilé el auydlpri.
' arhle’ gelliler Coumid 330 5 of ~ ! areipre. GUEBT Caled afrmeiifle

é]ermc.msr .
'. ',‘A) 149 Hz B) 280 Hz
1,0 1300 Hz ‘D) 1400 Hz.

. y :

‘;‘ A car travels at a speed of 20 m s~ ! towards a high wall. The driver sounds a

i horn of frequency 124 Hz. If the velocity of sound in air is 330 m 8~ I, the
_ frcquency of reflected sound heard by driver is

-_; _‘A)‘ 140 Hz ' B) 280 Hz
o) 1300 Hz D) 1400 Hz.
xx 1601 ;\ | % | 16001 [ Turmn over
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59. 96 [5L,&§;$1r;rw e Bleus aSh..@ aﬂmeﬂ& Qaading. IELLBIUS]G\) DG @aﬂsmmu wr oLt

22

@SS HD SjeoeBeTDd

A)
B)
e
D}

A star is moving away from the earth. The wavelength of light noted by the

2 BT SNBHNTSENGE sl

2 @ow SEvapeTsamsall GMDTEGD

2 GTOTEHD &mmt_{mg’;mg;sﬁ\\_ Sa(HBHOMEGD

Lrient efleneney gpofl Sierevs@hé@L Qurr@sj;grrgj.

observer on the earth will be

A)
B)
o
D)

60. ampilé vwefNsob g@émgerr 50 e, swger Bit Lyl BaLEADE. LEGHTGID
60° srphle gellller Geusnd 330§ ofl ~ ' e pelluler Gausd 1400 f aff = 1. el

equal to the real wavelength
less than the real wavelength

more than the real wavelength

Doppler’s effect 1s not applicable for light waves.

2ONBEHHEG ‘CIne’ alfl QUTEHED Tty SHEHaTe. ShE q;pu@mg

A
B)
C
D)

A plane wave of sound travelling in air is incident upon a plane water surface.
The angle of incidence is 60°, velocity of sound in air is 330 m s~ . Velocity of
sound in water is 1400 m s~ !,  Assuming Snell's law to be valid for sound

gedlallesmd i G
drdlusligped vl b

Gydlulipges wpd gadlailasd Gyam@d

@euhpien ergiablvenen.

waves, then there is

A

o

refraction only - B)

both reflection and refraction D)

61. QapPlsde pefidar Casn

A)
C)

QETUNISHS @ued B)
wrldlure Glmsars . D)

‘The veloclfy of light in vacuum is’

A)
&)

o [1601]

finite : B)
not constant D)

reflection only

none of these.

URTWIHS Qlueorgl

SPLILD anm GueoTg.

infinite

cannot be predicted.
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62. ﬂsé'rsarrrj,g. AL L5 '

A
B

;O p@esd GuptuL BesteprL_SHsTed CuENTURISSILIL LG

D)

QB L crerssir ZLGb

FET 26 _SSHTSH ﬂqmuut.@sfrmg | ¢

@eupniet ergiadldrane.

- The electranaghetjé waves are

A
B
Q)
":.D)

characterised by longitudinal waves

‘characterised by ether medium

characterised by accelerated charges

none of these,

63. fenarpes Qastrsfrcmasuﬂésrrre‘b afenss QuenT Sl

A
B)
G

D}

el Seaaeldr sl ubTa

, 56‘“05]@611’0{ gﬁlasgmﬁlsmsﬁ

gofl smaselldr Gyl e tiustonJenes
@eﬂxﬂs&r aflemeney gHuBd Hlepaiiene.

The main demerit of electromagnetic theory is that

A)
B)
G
D)

it fails to account for wave nature of light

it cannot predict the phenomenon of polarization
it fails to éxpla.in the dual nature of light

the phenomenon of photoelectric effect cannot be explained

64. gasdlape Nepale, Hspd gellisr enearerg

A}
B}
C)

D} -
kIn‘ the §éattering process, the amount of scattering depends on
. A

C)

Siper s@afarsder BB se s
Sigeh Siemaubensglein QPBOG &G &b

| i é{mmﬁeﬂgﬂs&r BTEHTIOG & HLOD

Geubniet e giapblcieamnes.

square of the wavelength B}  cube of the wavelength
fourth ﬁower of the wavelength D) none of these.

! 16001
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65.

66.

67.

Semaumeusteupmier ergl &f 2

A e e aaiD ShdHmHH Ggrnprg]cﬁlg,gmﬁ' smgupélsmm

B) ‘@pebiLrb Hloe smasglysd adp andos Cambpelpsast emangleie

C) peralleeney Hlapey pefl Smase QpLLae é.us}s‘ug,@s% Qeadlpg LS
Blem 4 &letrm g, .

D) ge e ‘aflefiby allwmearey dlapey gefl ameua,efr Ghbsmaeet aaTUMmS

Blenll&deTma).
Which one of the following is correct ?

Al The concept of ‘wavefront' is introduced by Huygens
B) The concept of ‘secondary wavelets' was introduced by Huygens

C) The phenomenon of polarization establishes the longitudinal wave nature of
light

D) The phenomenon of ‘diffraction light waves’ demonstrates that light waves
are transverse in nature.

gefldler ‘alefivy efloeray Blapaiiard ghudn epsd@ _cusmavwré;&éfr { Frinées )
A} sLETe 2 LWLFTH BYHEHSD |
B) sweEa ADDSTE QUHSHEGD

C) QurellauuaLaer QaraL.gre G mheEDn

D) @eubper ergiaybléeamen.

The fringes which are formed due to diffractioﬁ of light waves are

A)  equally spaced |

B} unequally spaced

C) bright fringes of same intensity

D) none oi' these.

wbeT wHOID Yeiyugmab Curetn Lty Shie e

A Ués LY SRSETTEGD

B] #p&e UQERGETTGD

C @ureL elesd @mgpaﬂmsm'ﬁ QeI TG0

D) @euber aé;sqzﬂs’umm. ‘

Crystals like Mica and Topaz
A) are uniaxial crystals - B) are biaxial crystals
C} exhibit double refraction D} none of these.

xx ' 16001
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| i
A }, - scve
E ‘@L_uéumf'réé] BlenGemmi o’ erebrp Camium’ g enes qub@aﬁlﬁﬁénﬁr
: } A xjé:sm Gur . B) Cgivdv wrédvGious
vy O gememtesbr ‘ D) qupﬁ'l_e"\)
| The concept of 'displacement current' was coined by
:" *‘ v A) Netls Bohr o B James Maxwell
O .C) Einstein D) . Hertz.
69 Lﬂmm@mmmﬁ)@sﬁ eTeneL @aﬂt&m allemeney Hlapailener oﬂm&@aﬂm@ ?
" A @aa‘r Qarerans B) seoeé Qasrrdrmm
C) L&ma,wgbgsé. Qereiens D) Garsnid Cereiams.
{ 'The phenomenon of ‘photo-electric effect’ can be explained using’
£ " A) Corpuscular theory B) Wave theory
4 ‘.C)‘ Electromagnetic theory . " D) Quantum theory.

} ¥
7d l GUITL.I_FFTQT ( photon ) ereirligi

i A @{@5 Hlenp Qamedore 5!&6!" Bl Gasren giset

t ; C) c%gotpeo G561 , D) @mgi)@sﬁ o gaydlceney,
‘H The photon isa | B
E‘ A mass“’e partic’s | B)  lighter particle

T N %) energy particle - D) none of these.

@ryl_sml_éerrr;gﬂ m,r;rrsureﬂam_mg a56 2 GnyeuoTons:s Olametereurd 1

f‘-;‘A) OR - B} AND

C) NOR ; . D} NOT.

‘ *A bijunctionl transtor is a good example of
A OR 1 | Bl AND
i';; C} NOR D) NOT.
72 4 (Bum_CBL_rr o Gur® updlw BlereumeusTeudpiet &gl SOUDTETG ?

H

y E‘A] aigﬁ)@ ;Qmaﬂtﬁ]sﬂ@gg Besremiy Gpeauideme
iB) sruGurrguLo SerGanmégd emiiley S0l 7 3
. ”, 'I"C): @eiﬂu;\_m S{BeiT Qmaﬂuﬁ'@ CriCarihé &rrrnﬂguenmg.} : §

D] éﬂ@JLIITGUTGG)LDE:_ sLpdlsenrea gHunD LEIsm(Bsorrn_L.m Q& cToTL_G).
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SCVR 28
Which one of the following statements regardmg a photodiodé is NOT true ?
A) It does not require an extefnal bias
B) It operates under reverse bias
- C) Its response to light is linear in nature
D) It works with minority carrer current.

73. Qarr@ésmt.‘.luLL 2_GoTenl il L euenesst GBlLug ( Y = Qeueflli@ )

Al B| Y
Q0 0 Q
0| 1 1
1 0 1
1110
A ORGs. B) AND Gav
C) NOT Gsi D) EX-ORGsl.
The given truth table corresponds to ( Y = Outptit )
| a]| B | ¥ |
o| oo
0 | 1 1
1 0 1
1| 1] o
A) OR gate - B) AND gate
C) NOT gate . ' . D) EX-OR gate.
74, 587 Crrsdé Baagp @&{péq&smmés 5€tfm_.nﬁu.| 2_SH6 el
A  AND Gal | B) .ORGa
'©)  NAND Ge ‘ D) NORGsL.
A gate that can be u;ed to identify the events that occur simultaneously is
A AND gate B) ORgate |
C) NAND gate " D) NOR gate.
75. et T dWETS HHD Seeullubdl
A sréll smedups Bl aprilell gemallupdl
Q0 | B gliey &@eo@turjy_ﬂ ‘I D) @meqé FHDn Semediubil.

o [
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76,

77.

78.

79.

27 SCVR

The oéclllator that produces a non-sinusoidal output is

A)  Colpitts oscillator B) Hartley oscillator
C) Relaxation oscillator . D) Tuned oscillator.
LCR app gerfien piflosey SfirGae 1 kHz @de NerHleewn wHieu (L)

4oLt sfefzgd Ba@asdlar ( C)wdlumu 4 LDI_!H@ G@oDHEID @uptiLBo

WAV ALY 2 a@ﬁ‘@mm
A) 1kHz B 2kHz
C - 4 kHz D) 250 Hz,

“The resonance frequency of an LCR circuit is 1 kHz. When L was increased by

a factor of 4 and C was decreased by a factor of 4, the new resonance

~ frequency is
A 1kHz | B 2kHz

Q) 4kHz - D) 250 Hz.

afeat uamCuibp gpIden pEEET SIPTCUEE \

A) 455Hz ‘B 455 kHz

C) 455 MHz ' D) 455 GHz.

The intermediate frequency in an AM receiver is _

'A) 455 Hz - : : B) 455 kHz

C) . 455MHz - . D) 455 GHz.

PAL auifl seuty Ogreassrfille oo sl dparear auflaeflesr eramaiaems
A 625 B) 512 '
Qg 3125 | D)  256.

In PAL. systern of colour television, number of lines per frame is
A 625 | B 512

C) 3125 D) 256.

| sesdln INsed gpidar fpps CattCsnsEb Hpeises Hmyemd

A - ofs Q-atyerh Qemeion @&,ﬁmémﬁ Quip &
B) @onhs Q—&rrgauﬂ Qerain. pifleaals Guwmsd

E C) ofle fliGeuctr CpH&snd CeraiL. Gluwmdd

. D) 2Hlel CUEBEGEHDT Caram CuEsHE.

A hétel‘ody-ne receiver has a good selectivity because it uses
© A)  atuned amplifier of high G-value |

"B a éuned amplifier of low @-value
' O an amplifier that has a broad mid-band

D) an amplifier with high gain.

x(1601] © 16001 [ Turn over
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80.

81.

82.

83.

Qesraasarld ghllQuramiie Hebvls Qaanabd afl Qafaudaman. Gamens
Qaweoug o '

A Oshgby @osan gy B) dleoLblL Geoeap sigly

C) sl @enseyny gigoy - D) s®é&edD gigly.

The retrace beam in a television receiver is not seen. This is. done by the use of
a

A) vertical synchronization pulse B}) " horizontal synchronization pulse
C) frame synchronization pulse D) blanking pulse. |
sLi7 & Qememtiy obmee 51-8 MeV. 2861 96 sGagsEpsana Loy
% Dpe

A 5-18 MeV B) 7-4 MeV

C} 12-95 MeV D} 17-27 MeV.

The binding energy of ;Li7 is 51.8 MeV. The binding energy per nucleon is

A) 5:.18 MeV B) 7:4 MeV

O 1295 MeV D) 17-27 MeV.
20 CU 84 smealest T ‘ y’

A 52x107'%m Bl 52x 10-®m
C) 52 x 10-2m . D) 52x10"%m,
The nuclear radius of an atom of ,, Cu®is : .
A 52x10"'8m Bl 52x10 ¥ m
C) 52x10-12m D) 52x10"2m.

Getreumbd Sespbap alameardd X adaug wurg ?
sBel®+ ,He? » NB+ X

A | H! B n!

0 _,e° D)

+1

The one that represents X in the followin< reaction is
5 Be ‘°+2He4'—>7N 13, X

A H! : B

Q) _,.e° ' D) ,,e°.

i
ol
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29 SCVR

sm&é,(‘ésrrm_grrmasmmés Qe Grm#,u;rrasra,mm whss @umorr@ gOlarafieh
oL Teas |

A é’lgblu.a tﬁlem@rn_L_m Qaraioa  B)  fop sifleb Qs

C) Ilﬁl&,cqm @Gm&rreursmm D) Garem 2 hib & edor emeu.
Electrons cannot be accelerated by cyclotrons, because electrons

A Jhave a small charge B) = are heavy
o ! are very light o " D) have spin angular momentum.

QEBILI&;IT -(péveurt &1 6T 6] Gl&tus\)u@sug 6T & 65T a;tq.uuml_uﬁlé) 7
A) Lﬁlasr@m..t_u) 5 Heumeast Geflitalldaiu@se

B) gw,efrs,sﬂrrm gHu@D gpefl a.tﬂbosurreu

C) "Ilblmasﬂp&m Bl peugme

D) ersuml_rj'rrsma,eﬁlasr afleyds Quqbéasﬁ@rréu

A Gelger-Mullcr counter works on the principle of

A) | : condensation of droplets on charges

B) :ﬂunrescence produce_d by particles

Q) -;i_eleetric discharge

D) "J avalanche multiplication of electrons.

86 af;pas&sum_mg)@err Ble 2idle ca@mayd $mest Qe etior SiS6T 15 1
! A) .Q_{,G\)I_IIT glsei B) ' .GTGO&I_UH‘GOT&GIT
; C) ;;UFI’GT&I-.I]TI’GOTE:S!T' D) Ay AGeréme.
:i Whleh one of the following has the longest penetration range ? .
‘ . A Alpha particle ' B) Electrons
L ' C} Positrons | D.) Neutrino.
87 @569@1_ ST L u_u}aag’sﬁ,ls'\) SHHG gSaehles o ctoTenilhen s
) 6 | B 8
o . 12.-T D) 16
) The Nnumber of nearest neighbours in a face centred cublc crystal is
A '16 | B) 8
o0 12 i D) 16.
xx 3 } " 16001 » [ Turn over
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88.

89:

90.

91.

eeugl) Ligselléy yemwpbgieten Llemesoriiy

A Suweill Nemewriiy B) . ssdleauiiy

C) =2 Garal Lﬂsmcot;ruq D) eanlyge Slemeooriiy.
The type of bonding in diamond crystals is ' ’

A) ionic : | B) covalent

C} metallic D) hydrogen. -

saegyl L HHS6T Spqliue & HLigd Semouyb a@é&mﬂc&r o ot R e
A 1 ' B 2

C 4 D) 8.

The n-umber of atoms per unit cell in a cubic crystal is

A 1 Bj 2

c 4 D) 8.

40 kV blerenpsssde Quiagd sasdligh .@H‘)W@wﬁ@@&@fbﬁ @upiu@id X-
sdlieefler Anw seederd ' )

Al 003 A B 03A

C) 3A D) 30A

A Coolidge tube operates at 40 kV. The shortest wavelength of X-rays from the"
same Is ) ‘ -

A 0-03A Bl 03A
Q 3A : 'D} 30A.

Rsangdlen 2 griey eaameursald, Feadug o Qurgeida g Qeusu@ssiu@id
olevaller 2. yriliey sréeLTsHayD LTONSSTE

= B ' _ R
A F= g | B F=3
C) F= uR ' D) F=R-np

Let R be the limiting friction of a surface. If F is the limiting frictional force
applied on a body, then _ :

_ B 7 _R
A) F—R B) F_l-l
C F= uR D} F = R-nn
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s&ﬁgmﬁﬁe&r e grieyd Cememd aetug
A - z.grﬁima TR Fsré]:’ré‘@a&mdu afiens R Qurpefisr s W G eusafles
. swhevedid BBSHSD Gurrg; gangdlen arie]
' B) ; e yriley adae Fég afltétsud oflems R swuwns @eésh Gurs: ﬁsng,élm
Y
sréﬂrté@a-u.iéo allevs R &,@ Qurmeflet ereoL. W swwrs EBéebCurg sansde
&rru’.m;
D) Gurger srugeapdle @piss Cgr.higb feoells gergdlar amuey.
Angle of friction in an inclined plane means
A) .at an inclination of the plane the body is in equﬂibrium with F R and W
B) ‘atan inclination of the plane normal reaction R and limiting friction F are
" equal
&) :at an inclination of the plane the normal reaction R and the weight of the
body W are equal :
D) the inclination of the plane when the body just starts gliding down.
93.  sufeopyoLy firw Bfs Carerhser Ggqqmrrm uy, u, HosCasnpgi s Curg
v, v, ol foeCash Qupdlaper. SigarTe
A ljll‘='vl;u2=l)2 . B ou,=v,5 u,=v,
“C)' u,=0; u,=v, D u,=u, uy,=0
Perfectly elastic spheres of equal mass collide directly with each other with
initial velocities u, and u, respectively and their final velocities v, and v, ,
A uy=vyuyEv, | B) u,=vyiuy=v,
. C u‘,=0:u2='vl D) u,:=vz:‘u2=0.
94. @it pursbp Sur@geiar spd Sumd adug
A  Hepovuidbed eNehvdped Gem L GTyid
‘ B) @mtp opusdliheh aphé ageeﬂ;b@m Gl gmyin
| C ar;pt,r)eﬂ ag&éﬂtp@u: aﬂaﬂmtﬂgb@m Eem O gn’r,rw
D} syrefl i .
Radius of gyration of an irregular body means
A distaﬂce between centre of mass and the edge _
B) distance between centre of mass and the axis of rotation
'C) distance between the axis of rotation and the edge
D) average diameter of the body.
x| 1601 - i 16001 : ‘ [ Turn over
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95.

96.

97.

98.

P0G é\i_L'sQurr@eﬂsin Heoewsdpuysdne (1) adug

A Qurgelen Quflu enpyseiler I sl GG BT

B) - Qumefss eréveur snpuseflest I et sn DG @Tens

O Qurpefilen aowrs sapaeldar [ Qgrasd@

D) Qurgeficn CarEOEE&EaILCL sapimafies 1 Qgrenad®.

Moment of inertia { I') for a rigid body is

A) summation I of selected big particles of the body

B) summation I of all particles of the body

C) integral I of all masses of the body

D) integra.l I of selected particles of the body.

Ceueflappd alleanswpn &paud Qur@silds Carem 2 hab

)  eafiszsalé wrpdps | B) wrhled

Q) Gripssaic wrgdHpg D) ea&ev@urearatflucmrs wrydng.
Without any external torque the angular momentum of a rotatory body
A) varies inversely B)  remains constant

Q varies linearly D) varies exponentially.

dxugwguse 27k Re der o Caragdle awupdldehs X gTrsdle G Ly
SHL e § Fall rDHBTOD BT LB

A nx?dx | - Bl n{x%-R?)dx

0 n(R%?-x2)dx D) =mnR?dx.

A spht;re of radius R is sliced as a circular disé of thickness- dx at x distance
from centre of the sphere. Then the volume of the sphere is

A mx2dx B n(x2-R?)dx

C n(R2-x2)dx | " D) nRz_Idx.

2 basdle SOG

4 Sai-! : B & Seal-!

0 HAHSeA-2 D) Hd el S

xx 16001
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‘Unit of momentum s

- A ms-l | B} kgms-!
0 kgms : - D kgsm®
99 | ;ﬁlg,u_snﬂm @y edormb oﬁ]ﬁ&@ MUV weon

& A seoplldehe GG HEODR gga,rnuﬁﬂéo sr;bhsdu

B) ma»pﬁﬁ' gamjuﬁléo mﬁ@ afljpeo

, Q) asr_.oilm FUudG Qsdeusd

t D} aﬂaﬁrmﬂd) @&m@_u.o el aed.

SCVR

o Of the following the one which does not obey Newton's second law is

A
?’f B)

‘g

:%.! D)

a stone thrown on the sky from the ground
rai;ldrOp falls on the surface of earth
moi?lot} of ship on sea water

motloh of space-ship in space.

100 mrrgsursm mmpgogé]m

# A
3
0
"y

-!.

@gu_a:‘ﬂwr oﬁ\é\a&@m Nt Guée eSflagnid wrpuGHdrpen

rﬂgL.Lasﬂw allfle@nid L&ﬂ!‘r@luﬁ:& caﬂgﬁla»@m poadloeas flaipas .

gmsmlesuﬂm qyj)tpeo Hlevp QzrLity peuniFips
m&@m sml.oeaa,éwsm-mrrﬁeﬂ Qe gpemeoniiledr oﬁlsmavsq gm@aﬁ'l{p@

In Lorentz transformation

)
“B)

e

.G
"b)‘.

Newton® s laws and laws of electrodynamlcs differ

-‘i
Newton's laws and laws of electrodynamics harmonize
Einstein $ mass- energr relation fails

a moving Michelson-Morley wcpenmental result fails.

101, eﬁ;pés&,{r@m 685 Qurgeflame . Qsig pravg solleméss ¢ cqecreurraﬂ
Blyedens Q&rr@as@m Curgl eah© Sde B8 saramw 2 @@ 2

A)
.B),

Hemd 50 Q& o wpHpd el b 0-5 8.
e 100 Qe of whgud e b 1SS
- emid 200 Qs .18 whHpib eIl 2 158

: ﬁemo 300 G £ whpb eI Lo 3 8.8
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B ST

The following four wires are made of the same material. Which of these will
have the largest extension when the same tension is applied ?.

A}  Length 50 cm and diameter 0-5 mm

B) Length 100 cm and diameter 1 mm

C) Length 200 cm and diameter 2 mm

D) Length 300 cm and diameter 3 mm. ,

56 doLou sblddr g6 woemiis Qprasal@agrd Flir v fpg aafle Sid

W

102.
fleve Ho®d / UGL IeTereu @gjé,@ Ffly o wpgd S Gemed Y ypeb
ePulGeag
A Yo?/2 B) Yo/2
C) 2Yc2/2 ' D) Y2c¢/2. .
In a wire stretiched by hanging a weight from its end, the elastic potential
energy per.unit volume in terms of the longitudinal strain ¢ and modulus._ of
elasticity Yis
A Yo2/2 B Yo/2
C) 2Yo2?2/2 - D Y?o/2.
103. 3 Qe.f oL 2 cter operet sflphler SDUEbSPe 1-5 x 105 N aaflé
1-5 Q5 18 el i_gpefrer 28 ellgwner slipfler SmuGn Hper
A 075x 105N ' \ B) 0375x10°N
C) 3x105N : D) 6x105N.
A nylon rope 3 cm in diameter has a breaking strength of 1.5 x 105 N. The
breaking strength of a similar rope 1:5 cm in diameter is
A 075x10°N .- Bl 0375x10°N .
C) 3x10°N D) 6x10°%N. '
104. @yan@ gransE@de @eordle Gure suul Deier 2 Gors semger detd L,
G©DIBGOLE urluete A, URG@OTHD Y bHpb ﬁl_é]mﬁ]rﬂcq &G a@a»g, °C &3
@HuetsTemb Curg g‘,aﬁn@ Qumyb ellems
A} YAat B) YALt
C) YA o Lt D) YaolLt/A.
A metal bar of length L, area of cross-section A, Young's modulus Y and
coefficient of linear expansion «, i1s clamped between two stout pillars. Now it is
heated through ¢°C. The force exerted by the bar is
Al YAo t B)  YALt
C) YAa Lt . D) Yo Lt/A.
xx[1601] 16001
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105. dlyeu é]tue’ﬁ&éﬁe&r uT@hlaneée swwbTeaTg |
| A Gusssddinash HUGUTEMe 2 pmiey
Bl ey ppevssapiseflen gpenpupn Guésin
O  FuQureeier fpp Guésd |
‘D) o= @mé.&.tﬁ.
Vi_scocifjr in fluid motion is analogous to
. A)  friction in the motion of solids
~B)  random motion of the gas molecules 1
0 nogl-umform motion of solids
" D) internal motion. |
106. gupb racier petyeny gprilsr aiflurs Cedgid dyausdlsr siwse Caupur®

- Peys Qoéeotury umyb Geuad v. 4Fid % 25 Geopub Gurg LHDId SiSsD
2P 9,6 & B0GUTH uTyd Gousb -

:A] v B) -%
2 o ¥ | D g,

‘The rate of flow of a Hguid through a capillary tube of radius ris v when the

pressure difference is P. If the radius is reduced to % and the pressure

"mcreaées to 2P, then the rate of flow becomes

A v | o B 3
g ¥ | D 2.

107. g@ éﬁycufo; ShtQurmeResr LlenL gﬁmmé,&nﬁ Gurrgl ;g';ga‘n QgrR@araoid |

‘ A s | B) @@@(B&rrcmb A o
) Q. a5 D} efGerami. |
R A liquid does not wet ithe surface of a solid if the angle of contact is

A} zero - B) an acute one

C) 45° D) an obtuse one.

. IF484] xx]lBOi] S 16001 [ Turn over
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108

109.

110.

Gemiy &smg&aﬂsm Uy Gpellens T aeflé, Gariy Gblflen all L pevs Duﬂe\ﬂ@g@
2D 5 wrHp 2 geoyd Geusnew

A 2rD32T B) 4rDZ2T
C) 6rnD2?T D) 8aD?2T.

If T is surface tension of soap solution, the amount of work done in blowing a
soap bubble from diameter D to a diameter 2D is

A 2rD2T B) 4rnD?3T
C) 6rD?T ' D) 8rxD?2T. :
Garliy @liflsin 2 eirCer 2 eiten oifles L& ByPSBID BT
A pdbe Criumprerg |

B) arsdide Cpyrerg

O ausdan anbsyasdbe Coyrerg

D) QUTHOS CUTHISHS0.

Excess of pressure inside a soap bubble is

A)  inversely proportional to its radius

B} directly propofﬁonal to its radius

C) directly proportional to square roots of its radius
D) independent of its radius.

Bleneuinmny @muu@ws\mﬂm Q@ Sreupgle uriy @@sﬁ}m&
A &

B) erevemeulidoeoT sy

Cl  wpp GuliuBiereé@ Swnrang

‘D) se@n@llgss PRUTSHE.

At critical temperature, the surface tension of a liquid
A) is zero

B) i's infinity

C) is the same as that at any other temperature

D) cannot be determined. :

~ 16001 |
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111 Lﬂmm@mmwm@m erg sflwée 7
! = ; a{awélmuq asélri'assmsna, &eorL_Plyd @mmaa‘r |
| : Al Qmuuaﬂsmsm; : B gefloul pesp
:’.i L0 @aﬂ Bletresiiuco @,psmm ‘ D)  gsfitpd wep.
. (N Which one of the following is incorrect ?
‘_r Infrared radiations are detected by _ |
| ' A heating effect B)  photography
. | :° ) photoelcctriclty ' | D) ﬂuorescence
. " 1 u dlsmsu@susurmg)@m gl Upeugrs sdifler eb Goon »
i ! A Eflud
_ y B) as‘rrrruan WlebTarL it
¢ ' . - Q) @(Bsmru:’r | ‘
. _ | D) @mrrr‘n_'.eiu @priie o efren LTgre Bewai,
. ‘ " Whichzqne of the following is riot a source of ultraviolet radiation ?
. A sun | | "
g-’ lBl An electric arc of carbog
E RN Globar
’a ‘D) Mircury arc enclosed in quartz tube.
T 1 13 aﬁ’@m@m ampysefie ag sflude 2
.\ em@uraaem afleel et swCLréen B T 266 CsdawnL ug
";B) grnceo‘r afse tpe B mha swédrdn wonlie @b CQuuihgiehene
Q cgma) surhe'ﬁ@fn grwet eufl&@h 2_efren gﬁﬁQmm Coupur® 2i&éflaiiy o L seit
; mrﬂasa‘ﬂm <18 Qleuatoranamid ef&dng
o 'D] rjrrmasr auflsetr blaeyd genallenereypmg.
Which staterncnt of the following is incorrect ?
B ‘ A} ' Sto;ccs ljnes are always more intense than anti-Stokes lines a
. - B) The Rama.n lines are not symmetrically displaced about the parent llne '
. f__-_:(ll] The frequency difference between the Raman lines and the parent line |
S ‘Tepresents the frequency of the corresponding infrared absorption line 1
“i A D) . .Raman lines are strongly polarised. '
X 1&)1] . ; | s o 16001 1 Turn over
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114. psadoil aursdluhsenasd seuefl :
gabmy (A) : gl @epsabisdr, Blaae whnid Batanbs semasenme ghu@b

G@DIGS_ L THFHGD UMD 2 enL_WeDT.

srgeeid (R} : gl Qevpsct 2 Corahsa Gldamea: S blararbg SO DEENET

CaihogRLug Gdene.

- #Cp Qar@ssiuPster Gliest wad sflurar elloLous CaibQs@ss :

A)
B)
C

D)

(A) wpp (R) @ram@i o, Giogus (R) sreirug) (A) efipe sflurer eflerési
(A) wbpd (R) @ren@bd &f, Gueud (R) erestug (A) alihe &rﬁiurrsm allem & Fi06oe
(A) sf), gy (R) pougy |

(A) 5&1@, S emée (R) e

Consider the following statements :

Assertion (A) : Fibre optic cables. are immune {o interference caused by lightning

or other electromagnetic waves

Reason (R}: Optical fibres are not metallic and do not pick up electromagnetic

waves.

Now select your answer according to the coding scheme given below :

A)
B)

C}

D)

Both (A) and (RJ are true and (R} is the correct explanation of (A)
Both (A) and (R} are true, but (R} is not the correét explanation of (A)
(A} is true, but (R} is false | '

(A} is false, but. {R} is true.

115. Gevarir speplles Lictogel &8y syuL Gefreret. GFé peupren eurddub ergs ?

8

B)

Q)

D)

Cevsit ereitugl iben Bip sefl

Covair spenp alfleeLps Qaddlpg |
Gevart gpef) @fﬂm&b gpeflun o

Cavsit spenm Waab GledeyenLwg.

The characteristics of a laser beam are given below. Which one is incorrect ?

A)
C)

XX lﬁbl]
[

Laser is nionochrométic B) Laser beam diverges

Laser light is coherent D) Laser beam is extremely intense.
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116. afgpm&rbmsurmrj)@sfr sflura QUTBHSLUL L& g ?

A) Gen&r'r : ' - puifhoreoriu_b
B} L‘J{Dmgarr&a,ﬂr? — gy spefiiin_io
C} ,.a{&&ﬂmmq sElr - gpefirpev
D) pmoen Hporeoe - [f;\sur@ Qaﬂrrg;eo
. Which one of the following is correctly matched ?
A) Laser — Holograph
B) (fltlfaviolet | - — - Distant photegraph
C) Infrared . —  Fliorescence |
D) Raman spectrum — Phosphorescence.
117. uredp 20y sLSEIb a;s.aeﬂcuuqa: aditsaller seader GipHHsD a‘g; ?
A 3 pm uﬁ\e&@gga 9um B) 8 ypum ded@hg 16 pm
C) 15 ym el mba 20 pm | D) 18 pm idighe 28 pm.
The wavelength range over which the rock salt material is transparent to
infrared radiation is _ _
A SGpmtOme » B} 8umto 16 ym
C) 15 um to 20 pym D). 18 ixm to 28 pm.
118, £paipaleaibpe g .elrﬂ ?
E A g,ééT 2 Bipey Quehssmyemmhmenme B pougaa
B) gnaiamﬁu&t.. 2 flpey, Gurgsgwrar Pt Geram. fararhs
SEoaseedr GYBUILITE _r_ﬁa,gpeﬁ];pg: .
C) - gresoTLouc L Ltﬂpqw g 2 Sipad eCr SigitCeucdor, @Gy sL.Lb, gy
g,maﬁlsmencq Qs etn_enat
D). @@m SjeneoTSHID. '
* Which statement of the following is correct ?
A Spbntaneous emission is not caused byrany external effects
‘B Sti;'nulated emission is due to the presence qf electromagnetic radiation of
suitable frequency '
O Stimulated emisston has the same frequency. phase & polarisation as the
~ inducing radiation L
D) Al of these. |
xx [1601] - ;_ 16001 [ Turn over
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119.

120.

121.

122,

Qe sdllet LuGEpesen 2 LTSS uPpdHawTe LLSTLRSSUILHD &HT agl ?

Al ss&daily sdifr B) | ypzersmé sdir

C)  X-sdlit D)  v-sdlf.

The radiation that is used in practice to increase the resolving power of a
microscope is

A) infrared B)  ultraviolet |

C) X-rays D) y-rays.

sans ulleowd GeonsHel YuSTURHD &HIT erg 1

A . X-sdlt ' ' B) ypeagmé St

C) y-eadlit - ' D) Syeédleuly adli.

The radiation that is used in reducing muscular pain étc. ls'.

A} Xrays B) ultraviolet

C) y-rays D)  infrared.

oo & Ceulfleanendid

A wpaseder subpes Hprob B cpouseaihen a_yj)r;ps'\) & flé@ sob
C) deowybns &fléeE #ob D) pessbble b Cu@ob.
At absolﬁtc zero temperature |
A) the molecular energy is minimum

B} the molecular energy is zero

C] the potential energy is zero

P) the molecular energy is maximum.

Halrrusellecs Oeaullelle, GCalps Lwuiemer 2 @LL EGSSSE] ey
BlnsSiEsebourwe TuuT Gl CagsgeaiEb. glareampd

A saphler sargeney @prilguet siflsfsdng

B) srhiler eiwpsn eprdgust syeflsdng

O srplan mensiee, Sebsd Qraeh sfleNsdng
D) smhdler owHsd Gprigust Gaopdng.
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tSometimes a.cycle W1th well inflated tyres left in the sun, has its tubes burst
" -open. Because

‘A) the volume of air inside the tube lncreases

P

v B) - the pressure of air inside the tube increases

ot g

t (o} the pressure and volume both increase
SR §
. i"D) the’ pressure of air inside the tube decreases,

123 Gleuiu a_u.vrrG’eun ey GonGar Blhars B (Paap el TaTLg)
: : ”,A) @cuuumrrg)gft_g)gj Bapey B) @muugﬂmm WwAprHepey
' ._..C) amu(ﬁgnﬁﬂ : L D) Oeaiu Gubstiapea).
i .
. " A physical process in which there is neither gain nor loss. of heat from the
; - system is called
1 4 ,

i

A Adisbatic Bl lsothermal
. C] Entropy D) 'I‘hermodynamical.
‘ | 124.;@muumnmﬁ_mm Hlapey 2 o Téng)
A) Qmuug&mm WIS G)béHensules
Bi a@ggm_ LIPTWLE BYBHGDLOUTE

)

C) Qmuiﬁtb SieTRy LTPTOH 2 6frer Qm(pg
D) s,sa'rcg{ma{ LDI'I’LT)H’I.DG\) 2_efrer @urr@gj
Arl adiabatic process occurs at
¢ : A] " constant temperature only B) constant pressure only

,C')._ '_ constant heat only _ D) constant volume only.

125. @@5 mrrqcxfﬂsm WPpemo Gleuliiblensy cpeTRI L BIG a{élesrﬂ&@m Qurapg - pr&wgﬁ]m

RMS éﬂm&@m&m STELEUENEY 7
3

A) - apetiy _mumg B geug mt_wlu@ ,
A ié . .
Q' é— WL D) V3uLig.
i A ‘o '
i ‘.’fhe absolute temperature of a gas is increased 3 times. The root mean square
Velocity of the molecule will become
e Al . 3 times ] B) 9 times

‘ C) .'i ‘%Umes D) V3 times.
RN 4

, i i
)

[
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126. )6 SgRueyeien apesdangy eumyalier aﬂ@@mmasﬁ grgnyem Qeuliubeneulic
A 7 B) 6
C) 5 D) 4.'

The degree of freedom of a diatomic gas at normal temperature is

A 7 . B 6
C) 5 ' D) 4.
127. C 6@b C, &b 2.erer algdlursid
A 7&1@ B  &fleow QﬂLQLirﬂngj
RS sfleow ol Gonbed D) pgaled.

The difference between C pand C  is

Al zero B) greater tha.n ZEero
. C) less than zero D)  infinity.
128, dyren s@mLbOUT@HeT sdralés -
A TS . B T4
c T4 D) T3,
The radiation emitted by a perfectly black body is proportional to
a TS - B T
C) T4 D) T-3.
| 129. gflusier Qauflere raa® wa_réiafr@m Qunr s
A Qeutiuz Hpey ﬁ,rrdst@ URSTE BYB&GLD
B} Qe Hpey @rer® ukers GmsH&n
C) . ypeeagm s&litsener LLSI@I.'D.
. D ssédlaniy sditaaen 2 flgpb.
If the temperature of sufl is doubled
A)  emission will become four times
B) emission will become double
C}  mainly it will emit uitraviolet radiation
D) mainly it will emit infrared radiation.

xx : 16001
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130. &@Lb@urr@aﬂsﬁ sditafsdléd Goba CeaeNiu@b Hpwrae
A mlﬂ BIpTene B weL Binioremey
C) @g,rrur @g)mrrsmeo D) oufl whrd uLmL_'@rpmrremm.
The spectrum froma black body radiation is
: A line sp_ectrum : B)  band spectrum
" Q) cbn_tinuoﬁs spectrum D) line and band spectrum.

131. 1 Wse 5 eueny el 5 ubgsomear safllgsallurs prelle Qgrhsail_eyn
(1,2),(2,4)vdpbd (4, 1) Geoanse daralloew satseub, (2, 3)wbyb
(4.5) @mmsm Herafenen aflevsseneyd Qaradrmre) 1 ubg

A (3[5rr Lﬂevr@,rru_m Qe eor_gi B) adif Lﬁlmgm_:_m QareiorLg)
S0 Sergpm L Hoersgs Dj -L(’Ba)nmsg,na)ns&rgj.

* Five baué numbered 1 to 5 are suspended using separate threads. Pairs ( 1, 2 ),
{2, 4) & ( 4, 1) show electrostatic attraction while pairs { 2, 3} & ( 4, 5 ) show
repulsion. Therefore ball 1 must be '

A) | poéitively.charged B)  negatively charged
. C) neitral ( _ | D) made of metal.

132. ABC asiiug swuéds &Garamd. galaurg goadan + q et gt Lib
. oeubelLl etergl. O et yereNfler Bler Qediay

A ta

4ne, r
Q) yiub
x| 1801] 8 ' 16001 : [ Turn over
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133.

134.

ABCis a equilateral triangle. Charges + q are placed at each comer. The electric
intensity at O will be

A+q

A 41350 ' Fqi B) 41t1€0 ' 2

C) zero ' | D) 4;8 o '. %—22 .

Bedr Gimpenrest a"gﬁ)g_p nﬂmqmﬁﬁeﬂ@&@m Curg 2 coIhHeug)

A allene wHpDd sPHd elens |

B sphd elwsdoamod elers wrBb

C) alevedicoamos &pHé allens wLEID

D) aSemsybvene, &pHs allensudenc.

An electric dipole is i{ept in non-uniform electric field. It experiences

A)  a force and a torque ‘ B) a force but not a torque

C) atorque but nof a force D) neither a force nor a torque.
@Qenemt g0 VlerCsadldlsn BeBaée dlpen C. gt@&@é,@ @eoL-Weyisiren gm;nﬁ
urdurs geopyd Curg BaCsés é\pq‘n

A 4¢C B) 2¢C

a c/2 D) C/4.

The capacity of a parallel plate condenser is C. Its capacity when the separation
between the plates is halved will be

A 4C - B) 2C
a c/2. ‘D) C/a.

. oXx | 1601l 16001
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Qo 3 B \ . D) B \

45 - SCVR
1.6]651601@,55 Geupiur @ mrruSls\ﬂqur&, 2 eren lenCopodlletr GemL e fler sLsm
Qurr(r_r,eﬁ @aEED (Burr@ Lﬁ]ﬁr@g;&,eﬂuﬁlm Blergpr L gdlen qpu@m DI HpHD

A) @smr_mqm B) sflefsgh
o : 1 &mmn'g, @(_.bé,'@b S D) @\eubmyeft s@mlﬁls‘umm.

A dielectric is introduced between the elements of the condenser kept at a

constant potential difference Then the charge on condenser
i .
A 1 decreases B) increases

Q) 3 remalhs the same D) none of these.

. afbp&:&;rr@]m Th QJGU)IJ'G}ILJI_LQ l&mem_L_gsmg GLSFID KBemnmer st 5rr[b§,

grram@g,m Buppid gmyb r 6@ e dlarer urppéas GH&HDE 7

. r

Which of the graphs shows the variation of magnetlc induction B with distance r

from a long wire carrying a current ?

A,.?B/ B B \

R

TR
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137. Setengépios Nebs SargriLorelou ol St wsswrel 2_s5afDg
gOleretlcy
A fengm Lnreflbe fls Bleargeam
B Jararupsswraiide Hergea. s
C) emf sewupllgss GeoassiulL wosdlalmphs St sswomef
Slergar L S8 ghensg o . '
D) feiergpsswreidles snmemtiodSipesr Game,.
| A potentiometer is superior to a voltmeter for measuring a potential because
A) the voltmeter has high resistance
B) the resistance of the potentiometer wire is quite high

C) the potentiometer does not draw any current from the unknown source of
e.m.f. to be measured

D} the sensitivity of potentiometer is low.

138. dymes &rrg,guqeugsﬁsu Qe dogyiid BlesrGemmm_ L g;&aﬂwr aueete) o4Tb Gsbe G[bgrrsmgj
A gsefer gL ' B gesller 2 phsd
Q) yesedey D) gseler g bpo.

The radius of curvature of the path of a charged particle in a uniform magnetic
field is directly proportional to

A)  the charge on the particle
B) the momentum of the particle
C) the intensity of the field
D) the energy of the particle.
139. aeslgraisr Qussasdibe QeuGEsTs &THE Ll.qe)igrrcdmﬁ,\gd\) B = 35:34 x 10-8T

RQeTR&EULGSIDE. TSELITS GG  WuoLWTar &Dp gHhuGss
ahgserer@nd Gmyb

A) lnps Bl 2ps
C) 05ns ' . D) 1-5 fs.

The magnetic field of induction B = 35-34 x 10-€ T is applied on an electron in
a direction perpendicular to its motion. The time required for the electron to
complete one revolution is

A lups. B) 2ps
Cl 0:5ns D) 1-5 fs.
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A mwra:mrsmm

; B) Gg,&éllmmuq&é\ms&r

O atusdpsr | -
D)  @uppe @puqf&srrgg,mrré.am sphé.

142

o Ch susceptibﬂity

; f | N a7 ‘ SCVR
. ‘ |

e:rrgg,u @urr@eiﬂm SThS 5u_réaa: uylusTey GHOLS!

The area of hysteresis curve for a magnetic material indicates

-A) coerclvity

B) retentivity

-

Dj energ loss per cycle of magnetisation.

. mgmt._ggm a@jmm yGrriLner aeslgrams Nflés o sain bnd 13-6 eV

smg:_ml_ggsm g;@mﬂw 2 gher srmé.u;rrsuﬂm sHp e’ L. JTHos sy

A 153x107Mm B 265x10-'m
Q) | 84628 x 10-% m D) 42314x10°%m

'I‘he energy required to separate a hydrogen atom into a proton and an electron
is 13-6 €V. The orbital radius of the electron in a hydrogen atom is

A% 53x10-1'm - B) 265x10-!m
O 84628x10-¥m D) 42314 x 10-% m,
uréunt euflaefles eymaberd engmirges HDLTEIGUNET ...coccvvveenne LGS .
A)J' 256 Sy | B) slgeetm@bd
_ Cl' ,ngmg,rrl’ , : | [9]] g,jcn'trfcmmeo.
Biﬂmer series contains wavelengths in ..................... portion of the hydrogen
spectrum
AJ infra.rcd | : B) visible
. C} . ultraviolet ' ' D) microwave.
. senHeedefeéen Gerrq.mﬁ,@s&r Gih @HuiH
A 328, B) 3151/2
o 3'P,, D) 32P,,
'I‘he term symbol of the ground state of sodium is
A .3251/2 o | B 3's,,
_'C} 3Py, : D) 32P,,.
? . 16001 [ [ Turm over
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144, s salnsdne X-sdfear k o Wflsaflesr g@)éoﬁaﬁh 0-180 nm ?
A dasd , ' | B} GamruméoL.
C) uwhsels : D} @Cymbwb.
Which element has a k X-ray line whose wavelength is 0-180 nm ?
A)  Nickel B) Cobalt |
C) Manganese D) Chromium.
145. aoslgrefls faosCoauan 107 m/s aafle w-Ngrese) safeargas san@ily :
A) 7-3x10"1¥m B) 73x10"!'m |
C) 7-83x 10*'10 m . D} 73x10"Zm.

The de Broglie wavelength of an electron with a velocity of 107 m/s is

A 73x10"¥m Bj 73x10"''m

C} 73x10"%m _ D) 73x10"%m, .
146. GLefevect whmid O@int Csrgamenles gpgey elyrsed simane Geasdané

.................... GaFIME.

ARG B)  aflefliby eSlemeney

C) dapysaiu@se . D) zlsauised.

The result of Davisson & Germer experiment is responsible for of the

de Broglie waves by the target.
A) interference B) diffraction
Q) scatterihg ‘ D) absorption.

147. 10 em gpésaaeier Gugié 10 gm aerlysen savamaibhsmd 2 siarg aafid g
hpever astor@ily . _ '
Al 55x10-3%n?2 . Bl 55x10-51n2

C) 55x10-64n? ' D) 55x10-n2,
A 10 gm marble Is in a box 10 cm across. Its permitted energies are
A 55x10°3n? B 55x10-6n?2
Q) 55x10-64n? D) 55x10°67n2.
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e _1_ 1
g hyad
S0 szAE | D) AvV2AE
S § ‘
§ g The uncertalnt_y A vin the frequency measurement is
U A avsl : .1
N A T B Avagy
- vy s L |
S iC) AVEAE _ D) AvzZAE.
. o
' 149. 10 pm goepend QerauL X-sdlitscdn Gevsdleorme élg,gm_a&uu@aﬂg)g; aeflds 45°
i . (B&rrcwrg,é?az Hepyssiubd X-ahNeér soaBarsoms &m@\lﬁq
i A 107 pm B) 107 pm
. 0 107nm. | D) 107A
i b
¢ ﬂX-rays of wavelength 10 pm are scattered from a target The wavelcngth of the
i ?X—rays scattered through 45° is : ?
| LA 10.7 pm B 107 pm
A i © - 107 nm - D 1074
150;! G @uuq,uﬁ]gusncfr g;s.aﬂsur @luuT eI L S ETILED
) | 2 nnx L nn E
Al \yn-'\\_’z sin ~7~ B) \un='\/§ sin———Lx ':
Y _; .E & :
. toif2 nax _LI: - nRx
C} V=N T cos [ Dl vy, = 5 COs 7.
, ‘“ The normalized wavefunctions of the particle in a box are
! . 2 nux - L nmnx
A=\ s B v, =\ g s
i \‘ ‘]I ’ ’
*(,) wni ‘\/% os%’—c Dy, =‘\f£2“— cqsﬂ%’f.
‘|"r}' ' ‘ h
o ;
‘ 151! a%p&.asmuug)@err paedflens g@appg gl 2
. » A} su:_;ggﬂm appriureglile Gledaabd gaer
'EAB) @ms’uujrrém L;sﬁsiﬂmmé, Qaredn® Cpr&Gar iy pHED Ho6h
;C} mL_L_ggﬁ]sm ol L pgien peirgud SNelrgud BHEGD Giseh ’
Dy mmsﬂaﬂm aufCuw Q&mgum g5 6. 11‘
L Yo S '
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Which of the following do not undergo simple harmonic motion ?
A particle moving '
A) on the perimeter of a circle

B) about a fixed point along a straight lfne

C). back and forth about the diameter of a circle

D) along a bend. '

152. y = 2 sin 20t ae1p SweTUTL. QL QL LG y&ES Qamedm g:amﬂa'sr. ATET Y

dlansCautamd |
A 2 sees h B) 20 suEse
C) 40 syevgssi D} 80 0@ oelr.

The maximum velocity of a partléle whose displacement is given by the equation
y = 2 sin 20t is

A) 2 units _ B) 20 units
C) 40 units . D} 80 units. _
153. gaf&dMNens eveamous @g&é&@fs uess0aw swatur® ( k oo LT aas
Qameirs )
~d?y : d?y . _,2dy
A TgE =k Y B G2 7ok
dy _ _ 2 dy _ _ ;2
. Q) at = k<y D) at = k<.
The differential equation that describes a simple harmonic motion is ( k is a
constant } ' : ‘
d?y _ o2 | ’ d?y _ _, 29y
A gz = kY B Gz = k4
dy _ _ 2 dy _ 2
o $=-k2y | D) L= -k2.

154. safsdffleome gmaalle o diar geaeameany s Qumnw @ UuGuursdllle 2 erer
- Quirgl, BT e Beusibd

A  #f ' - B) Gumwb
C) Spuwid D}  #iedl.

The velocity of a particle executing simple harmonic oscillation at the point
where its displacement is maximum, is

- A zerd B) maximum
C) minimum ) D}  infinite.

xx : 16001
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1%5 aﬂcmemrrgr)\sﬂ } Nm~ ! Q&reor. sblls &@@mnm@m POEper 4 &8 Ky e

[

ioa

i
i

!

@mm&&uu;@mm@ HE DIt gw oy il Qun@gguuu@sﬁm@ & (HED e
@Lurmes& QelsTe ST Joasenad wditQee

A} OOSHZ' B} -0-31 Hz
C)’ 05Hz ' D) 2 Hz.

A mass of 4 kg is attached to the free end of a spring whese other end is fixed

to a roof The force constant of the spring is 1 Nm“1 The frequency of

_‘ oscmanon of. the spring when it is made to vibrate is

A) 008Hz ' " B} 0-31 Hz

“?CJ 05Hz D) 2 Hz

156 100 Q&uf wHgb 101 Q&uf SoepeTd Qaraml  @p g o ese
: st &Qurardles aflpTyée 3-3 alboudsaas g;@eﬂmggm arafid .g;msy__s,gﬁas

@Gﬁ]uﬁlear chasl.n
l’}*.Z;A)‘ lm/s B) 333 m/s
c; .333 m/s | | D) - 3,333 m/s.

b
't

i
b,
w

’I‘wo sound waves of wavelengths 100 cit and 101 cm produce 3-3 beats per
second The velocity of sound in the medium is

g Y
A 1 -m/s o B} 33.3m/s
¢ Ty
g . .C) 333 m/s D) © 3,333 m/s.
f' 157 &m@gwmgﬂlmm Cpréd) 3 m/s Casgdles pLégb put erflQyrllsatull searg
f, i Qﬂeﬂaﬂsm { 330 Hz ) gomsws Cal flpmt. geflufler deaneCeusd 333 m/s s &
f 'z Qasrrcu’mf_rré{. Seurrér el slu@b eftbwasdldr aanasms ( e allpmguis )
ot Q) 324 ' | | D) 336.
é ) A man approaches a wall with a velocity of 3 m/s. He is sounding a whistle at
‘_; ot 330 Hz..What ‘will be the number of beats per second that he hears when he
¢ received the reflected sound ? Assume the vclocity of sound in air to be
333 m/ s. %* |
"5 '_ac .
A} 3, % ' : B 6
N e 324 | o D) 336.
[F 465[ xx 1301'} : T 18001 [ Turn over
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158. @psis sULOL L SDOQUTETRET HHTOUET .......oovere.... & iee Wesdhe
CritSHAIGID, <oovverererrrennas &g Cripssalaid Semoyb.

A o vedler e, sbfllla By Cewdmuiind Guealame
B solder By Qewau@in Gugalame, s@lmh ueddlear Herd
Q) solider o_isd, Sfmd ueHdes b
D) efmb uedHlsr Ferd, sbllllear oiHd.

The frequency of vibrations of a stretched émng is directly proportional to the
square roots of ...... Merecreeniiens and is inversely proportional to the ............... .

A)  length of the vibrating segment, tension on the string
B) tension on the string, length of the vibrating segment
C) density of the wire, length of the vibrating segment
D) length of the vibrating segment, density of the wire.
159. BOwred semavaefian yfirGleueto el
- 4 20 Hz g ol é@oney B} 20 Hz @psé 20 kHz auenry
C)} 20 kHz g o s@eopey D) l20 kHz sy o fla.
Ultrasonic waves have frequencies |
A) "less than 20 Hz . IV . B) between 20 Hz and 20 kHz
C) less than 20 kHz D) greater than 20 kHz.
' 160. ‘Garam aeLg g6 FOETOHTEIH Ceudu@Gding ?
A Qeallyamt el B SGure
Cl  GryQur cg;;améu&;sﬁ D) X-eagitser. .
‘Sonar’ is based on’

A)  audible waves B) ultrasonic waves
C) radio waves D} X-rays.

161. Ggdlueligaellarrer gefllzen allamena) 2 cdormeme Oy Huedpsepdbed elewsabeid
@ Guueiren Cameond eTeleuaTay 7

A =n B)

alg o

Q) g D)

xx i 1@01{ : ) 16001
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: ;l ' 9. If hght is polarized by reflection then the angle between reflected and refracted

hght iS- 4

“% | i t ]

LA T B 3

B 2

b T ' 3n

.:3 " C) ? D) S .

- 16.2 Aany. @dﬂ&ammpuﬂm oJleflioy cueerey ghuGdng. ey gaﬂés@ ufleurs pe gpefl

B mrrrpff)]wfrra) ereiteor eflemeney 2. GOOTL M@ 2

g

. i B
. Q)
! D)

srg;g mrnprp@m Glevemen
aflefliny euemerey LLeL 6 GUEOTEID
éﬁlmﬂfoq CUEDETSY LI 6L &6 Bi&eulnir @D

cfleflioy cuemeney L L&6lt eDhgalED.

; .\ A diffraction pattern is obtained using a beam of red light What happens if the
¥ red light 1s replaced by blue light ?

¢ .. A) ' Nochange
LA : B) Dii_’fraction bands become narrower.
# h Q) 61&1'~action bands become broader
i ° 13! - D) Diffraction bands disappear.
163. @ a,smquu‘ﬂs\) gonalemersy saneurgow 2 uCurstudsguss Cprasn
} ‘ GI‘GUTGOT J7 _ 7
; | A] S mGSImrra, 2 _oirengi ) B) pée fpb Haolsdpg
: | “ O aﬂig g;rj)(Burremg,lu fgnsrﬂ&m D) o @aﬂé@lalﬂmm GoP&HFDE).
‘éi | Polarised glass is used in sunglass because
i A) ‘ lt:is cheaper B} it has good colour
o0 | é’ | C) it::is‘ féshionable D) it reduces the light mtensny
: o 1é4 Glmeae\ﬂm ULs\Jmsmﬂé) @rprﬁ:s.sfr Garerpleug THENTE ?
§ » X 1A} geNlloer 2 flgaapme ‘B)  gpefl @@5&&.@ cflevenafienmés
| 5: % EC] g.éﬂéé\gpeﬂmrrm D) gpeifiLy Sfeadermed.
o od Colour of thin films results from
: ‘ A) absorption of light ‘ B) interference of light
) | ‘ Q) scattcrlng of light D) dispersion of light:
.:xx@ _:- | 168001 [ Tum over
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- 165.@5\&@@.\@6’\) HpuSippsd oo rdlenp sTyesrd eeest 2
4 Sl gurdoy @eapser
B) oléevmeandst Nai@ufly 2 meub
C) Qurmer eldvemends@ OpHEHSHLTE @@556’\)
D) eldesads gefiififlos 2 cm raigre.
The chromatic aberration in a lens is because of
A)  some manufacturing defect
B) the large size of the lens
C)  the object being very close to the lens
D} dispersion of light in the lens.

166. @aﬂuﬁ\u.:a\: smailasties Gamenty dﬂg)p&eﬂsmtu GDULSHE gl umaﬂu@g,g,

GeucsarHD ?

4A)  swger @flalldvee | ‘ B) swger Gelalévenen

C) @@,&,m ePladldensy D) @@geﬂ‘@aﬂoﬂ&mm.

In order to reduce the spherical aberration to 'optlcal- instruments, one shoula
use '

4A) -plano-concave lenses B) plano-convex lenses

C) bi-concave lenses D) bi-convex lenses.

167. whadlea G Ulereyd G&ngmmuﬂeb Caremdletn afleflibly Ligeud erling 2 efiengy 7

A alefliby alemeney Ligaud

B) @D&ELE eumerey ugeud

G ofefiby cusveney, GRSELH cumetay Gyai@ib CoihE 2.@TLTGD Ggmj)g)tb :
D) gefléfigpe (BETT{'DIPI)IL'D..

The fringe pattern observed in a Young’s double slit experiment is

A} ‘ a diffraction pattern. '

B) an interference pattem

C] a combination of diﬁ'raction and interference patterns
D) a scattering of light.

x«[1801] 3 - [[eo61
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Qurr@err augeu Hpelicy Simeae MHGaE

A @@&&&.@ aSleveney B) sﬂaﬂfoqmémmeu Semerey
C) ' ugayse elleneney ' D) genallemeney. |
The perietratibn of waves into the region of the geometrical shadow is
A) 'infcrference : ' B) diffraction

Q diépers;lon D) polarlsation

. Lﬂgrrsm@gorrurr afleflby euemeney ggmggudlmaﬂm qrpu@mg;tp&rrasr Blubsoe Qar@

ggqsmeo V&L GYB&s (Beucdm@m ?

A - Sl eugelld ' B) Gamer cugailé
Q) “ suger augellé D) ea&efliey eugele.

The condition of observing Fraunhofer diffraction from a single slit is that of

light wavefront incident on the slit should be

A cyljndrlcal B)  spherical
'C); planar - D) elliptical.

. U@uurrmcq sweleow Rersdi dosoun upd) shod QuIws Ceabss SO

Hn.I_G).{lD G@DDWAYD WTHID BT &@mnmi\mmm 2bp CeTd gpefldadlt aliug

@@s@m ?
A) i | gsnaﬂléo)msq @épema) : B) swgen alleerey
Q) @Ll. senalemeney ‘D) ued seralmenay. -

When an analyser is rotated about the direction of incident ray as axis it is
observed that the intensity of the transmitted light increases and decreases but
never becomes zero. The incident light is

A] unpolarised B)  plane polarised
C}. circularly polarised © - D) ' partially polarised.

o

. Qesteumd curddlubisenerd sHeued :

1.t 6 Qurr@@&,@ Rty Wb @eueurrmm Bih&boHeTD eI eHG Hleon
eowid eTLQLIT(HEID 2 eBoT(H. '
;g
¢ 1L ritOY soLbWD GBEGDLU sdHle g Hlon sbusdléer Qurmphgib.
@sugprgjsn ' .
A ILDL.@LD &rﬂu.m’surgj ' Bl Il @b sfurerig

Ch I LDL.@LD Il sfwrerenau D) I Lﬁrj)igjlb I geunmeiemen.

f xx ‘ o ' | 16001 ' [ Turn over
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172.

173.

174.

A

Consider the following statements :
I. A body may not have a centre of gravity but it has a centre of mass.
II. Centre of gravity if exists, is the same as the centre of mass.
Of thése
A) 1alone is true : B) I1 alone is true _
C) Both!I and Il are true D) BothlI and Il are false.
1) gaibledr 2 WID BT SpoLseESHET yTsos CuTd BretE LLEGTEGD. g
tiusssdlear shn allaflivllée 2 eien O et yerefllifmha Cerhisalnu@dpg.
C guubagdles owvwub adpd G eabilat C.G. adnb swdearmé, CG/OC sy
iy _
A1 ' B 2
C) 05 D} 0.25.
A cone whose height is equal to four times the radius of its base is hung from a

point O in the circumference of its base. C is the, centre of base and G is C.G. of
cone. Then the ratio CG/OC is

A 1 B 2
C 05 ‘D) 0.25.

@6 S bl ROy awWD, B amitpaoaridlehg o dan Ggraea
[ h-gnibileT 2w | ‘ ‘

1 1
- A Zh | B) §h
3 3
C) Zh A | D) Eh.

The distance of the centre of gravity ( C.G. ) of a solid cone from the vertex is at
a distance of [ h = height of the cone }

1

A) Zh B) h

h.

MW N

) %h D)

2 eiefbp Seo7Carengdlesn riUY ebWD G owwHHeBHa o_airen GlgTeneuey
[ r-yeoy Coamengdler oy |

r _' | B)

i N~

-

Wi N
-

C) D)

o
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N e P T
i

The distance of the centre of gravity of a hollow hemisphere from the centre of
hemisphere is [ r = radius of hemisphere }

t ; A %_r; '_;;L_ * B) gr
‘ 0 %r i S
. \75[ T @unqaeﬁ wrHpiu L Hlemenlleb, &Ln;fﬂsmeuuﬂm BB SBITRTTE, g{&&m@mmmwa
Empeug
» “ AJ :f,]smciu.:.xrrmﬂsmsu | B} deoeuppblee
‘“ C) &nmg@m&mrfﬂmm , _ D} aeipensl QUTHESE.

1 If a body remajns in equilibrium even in the displaced position, the equilibrium
i : is said to be :

‘;, A) stable | B)  unstable
;r% ! !‘ E }’! . ' :
% C) neutral D) depends on the shape.

176 a__rjrnusq Graw%)su aSlemsemw Fersmg);m QehE g adit sﬁm&smw R eretimiid as@ékmmm
1 o epmiliey @ebmaaw 1 oy

‘;z:

A) F + R 1 B} F-R
- i
| C] —g 1 } _ | D) -g
LP; . I F be the force of limiting friction and R, the normal reaction, then the
; (‘oefﬁcient of friction p is
»;ig;[ F+R | Bl F-R
177‘ s'i;qy G\urr@etﬂwr g wHOPTE Gur@der &WPebGurg ejtpu@u) 2 griey aflemsemw
! - Sfepliugl
. ’}AJ rj;lemeu a,grru.leq B &6y 2 e
) riC} Lqrrujsq ersuemoa D) Qués LUWIIJGI{

_‘s:‘

The frictional force between two surfaces when one rolls over the other is calied

h" ¥

=]

A ' statlc frlction B) rolling friction
'C). Ijrmtjng friction D)  dynamic friction.
SRR T S ‘
xx f E : 168001 { Turn over
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178. Qebigpg adialeman wrpmod GuseibGurg, a.r;rrru'.:?q TN
| A QBTLEE Careamg®oGh uFlyseler aigoupeansl QuIhssdhame

B) Garl@é Qeranymsed uwiysefld augaasl QUTGEHSE
C)  swgey UTULSEHEGE &PluTGh
D) swserl LPLYsEEEE FhleluT@i.
If normal reaction is unaltered, the limiting friction is —' :
A) indept;ndent of the shape of the surfaces in contact
B) dependent on the shape of the sux:faces in contact
C} zero for plane surfaces
D) infinity for plane surfaces.

179. QBOurgsissiar 154 Gurpeia SPpeacoL cuppie’ ahHg PED Smeusefle
Qurgs Qe ti@sdler mpmIve 2_eTarg '
Al 25hgid , B} dleos@eausd
O w@&sD ' D) Heewnd Heuysdpe.

In elastic collision between two bodies which one of the following is conserved
along the common normal ? :

A) Momerntuin ] B) Velocity
C) Acceleration D) Moment of inertia.

180. amirusy CurealTdaeau® apabhantics 2 eer &Tiue gy LHNID JL&HedlgeT Bigrnl
o Fluemcusefles emvuhsghéddlotulL Qgraeea 1-13 x 107108 & sty
Curenréeaneuig e Hlann enowibd STTLST Seualelnha o erer Qigraeaany
Al 645 x10-11,§ . Bl 645x10-12§

C) 6-45x 10-°4§ D} 645x 107134,

The distance between the centres of carbon and oxygen atoms in the carbon
monoxide molecule is 1-13 x 10- 19 metre. The distance of centre of mass of
carbon monoxide from carbon atom is

Al 645x10 ' m _ B) 645x10"2m
C) 645x10"%m D) 645x10"1¥m.
181. 'Lﬂs&'rwq._pg';g, Ceupur@® X-s8F gprié siflsorsed Ourigg, Ceuefagd sgliraiss
A Qefley sfleawrgb B} Spw seeperd flsnrgb
G i@&gﬂa{ wn@ry@c&mm : D} dlgiw emederd @empub.

XX _ ) 16001
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The potential difference applied to an X-ray tube is increased. As a result in.the
emitted radiation ‘
A) the intensity increases
B) the minimum wavelength increases
C) the hitensity remains unchanged
D) the minimum waw.relength decreases.

o

182. smbin-e ellenerey Qpnturerg

N Al adir Deadir : B) GCaeard s
G g sdlt D) Soiw sdit.
Compton effect is associated with
A) Cathode rays B) Canal rays
C) Alp_hé rays D} Beta rays.
183. SGUSBM -.eoevrereeerirnenns 2 Blpellermes urdlbaiiLmos 2 dreng
Ayl gres ‘ © B) sra)é.ujfrsfsr
e : C) yadliser | D}  urdligmes.

The one which does not affect the nature of the nucleus after the emission from
the nucleus is -

A)  neutron ' ‘B)  eleciron
C) 7yrays D}  positron.
- 184. Lorr@o‘ﬂsimp 2 (HGDlemaéi@ &HiTeRIDT 6T @smsoqu TGl ?

A suwreals B}  QulLmels

0 GarGeueet . D} QGeusti_it sumev.
Which of the bonds leads to variable melting point ?

A fonic B]  Metallic

. O ‘Coval'elnt D) van der Waal.

185. @ uge seowiflée a=b=c, a=p=7=90
A)  gmbGur ug &b B)  @mKps ugsbd
- C) prsips LESHD D) sngiyes semsmybh.

Given a = b = ¢, o =P =y=90° The system‘ of crystal structure is

A) rhombohedral - -B)  hexagonal ;
.C) tetragonal D) simple cubic. '
xx (1601 - T 16001 7 | _ . [ Turn over
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186. afléGaremey Semun a igmeler HTb 2L envwb CareL. seregy Seoefldc

a

A a B) 5
av3 - a2’
Q) 2 D) 3

The atomic radius for a body centred cubic cell of lattice parameter a is

A a B) %
aV3 a2
@ = S I

187. o® welll Gsadlies a= b= cuwppbd a =p =y=90° yel Qe erattug

A}  grdCur Gamlyé B) Gur@erm fefefiés

C)  oiCar grimis D) Quignsené.

Foraunitcell, asbzcand o= =v=90° The uﬁit cell is

Al rhombohedral Bl  monoclinic

C} oréhorhombic ' D) tetragonal.
188. samss@maiatieo Byl et Hegey ghudd Qurws @easfal@easg

A aesllgmedr : B)  gyewur 5]561'[

C)  yG@umiimedr D) Ssmedr.

The decay of a neutron inside a nucleus results the emission of

Aj an electron ) B) an alpha _partlcle

C) a proton D) a meson. 7 ,
189. erdlitb@d) n Serer flowours used urwg, el Hagaler QeauafluuGn p -

Sbpe T S P+ T ‘

A agy Ceuc@umenmenbd B) @Hnh oyemey (i

C  sf | D) mc?é6@é swbd.

A negative © meson at rest can decay as

m~ —> p~ + 7~ then the energy of u-
A) can be anythihg . B) is a fixed quantity

C) is zero D) s equal to mc2.

xx [f_ei_ﬂ 16001
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190 @@ (SurrLer@jés@m L Py fGamalpeh Gerulé 2 erer Goupr@
Al (BLJITI_I_ITGBT shepHEl = el wHb lﬂlg,l_rﬂGwrrr ghaphél =5 L in units of o
! ; ‘ vj .
i B) (‘o’urrl_i_rrsé'l Fphél = ﬁguﬂ@swrr g,g_)a:pg)eﬂ = i

10O @LIH'LL_FFGBT [f,]gl_rﬂ(BGb'rrr @gco’ur@w g0 ghaphsl Hler arpgHere

. oo
. KIBEE
A 1

k4 5 D) Gurrl_l._rrsrsr Py fCerm @UGOUT@LD g0 sHapHd rfﬂq,_LL__rﬂ(Beurrr u)|_®m
1 g L&m&rrgbg,gﬁlemm
. . rr I‘he difference between a photon and a neutrino is

1 AJ “ spin of photon is 1 and that of neutrino is 5 in units of 5’-;*
’\! :.! : U l h
£ B) spm of photon is 5 L and neutrino is -2";;

C) both have equal spin and photon is electromagnetic in nature

j'fi Ij) both have equal spin but neutrino is electromagnetic in nature.’

tH

191 @grru:\scﬂ aﬁlsmstm{u ufi@srgamanQuranfle u@d gelldldr gadearc 500 nm.

E T l(gmw.angj Sj@wiflomd gpudb Goroedr @LOGuuisdl 400 cm” Paafle
Qmaﬂsﬁl@m Slgmeug SeUILLL @aﬂuﬁlguerrm 2 O\euaors e
» A) 400 cm ™! wppid - 400 cm
=i B) 400 cm’“ ! opmud 20,000 em -
1: Ci 19, 60{) em ™ ! ihgyid 20,000 cm -
o | F D] 19, 600 em™ !, 20,000 cm ™! wpgid 20,400 em”
A light of wavelength 500 nm is incident on. a material. If the Raman shift
produced by the radical is 400 cm~ ' , then the scattered light contains, .
i frequencies of
: ‘Ai 4001cm“ ! and - 400 cm -
f ‘ B) 400 cnili ! and 20,000 cm ™!
. C) 19, éoo cm ™! and 20,000 cm -
o h D) 19, 600 ¢m~!, 20,000 cm~* and 20,400 cm~ ! .
? 192 300 nm &mm;ﬁmm Qemedni_ GUTL L Tever 2 U saiph Quimeer SLTTW 2 Heyeug
Y :- A) @grru)sm @pmrrsmmu‘iltueu | B}  ssédlaly Biporeeiiiuc
i . ﬂC) .E:L_qeosm_ ﬁlr_r)mrrsmmuﬂu.lm D) ypeasm Hiporaadiud.
oo i .
xx @] i - [ 16001 B [ Turn over
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| A species absorbs light of wavelength 300 nm. Then it can be stﬁdied using
A) Raman spectroscopy B) IR spectroscopy
C) Visible spectroscopy . . D) UV spectroscopy.
193. Qb Ceuelliu@b Cesir Ltﬂgpmmg &(HD Qovsiiseir |
A @B SHDey UL kiseT OaresTL et
B  apedny uHmés L hiseT Qamedor e
C) mreng hmeé Ll Lhisem ©)&HTesr e
D) @G wHnbd apeip SHoe L RiseT Clamaori.eo.
Continuous light is emitted by lasers with
A)  twolevels ' B) three levels
Q) four levels o D) two and three levels.
194. gg@e‘séaﬂs&g(ﬁmmﬂ@ Gurgerd odhpad ghHpid Qupruheus
A}  He-Ne Gevarflév . B) mnmﬂé_&é&&én Cevaflé
C) e Curlh Gevaflé : D) Nd-\félg Gevafle.
A laser where atom-atom collision produces population‘mvex;slon is
A) .He-Ne laser B}  Ruby laser
C) Diode laser D} Nd-Yag laser.

195. (‘Sgr'ré{@&,rn'_@é Qeuaur® @oars gefldany o amtames

A} LDR B) gefldlue e Gurp

C) epefiflwe Cyrestélav it D) &flg gefidlus e Gur®.
A fibre optic sensor with non-linear response is

A) LDR ' _ B)  photodiode

C) p}mtotransistor D) Avalanche photodiode.

196. o@liey Hipwramendics Glg,mirurrm QUaEGS o emeunit e '@e\‘ﬂtﬂs& aiémm el
A 14,000 cm ! Gef@ha 25,000 cm~ !
B) 25,000 cm~ ! Yefimpe 50,000 cm ~!
C) 4,000 cm~ ! Sedimhg 20,000 cm !
D) 400 cm” ' defiphg 4,000 cm™ !,

xx | | 16001
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.

C) 4,000 cm~! to 20,000 cm~! D) 400 cm~!to 4,000 cm™!.
197. Qardésiu L golldley  gadlar o diaragdar galallassd wan ugda
srlguetenug. Sewdlng. S Ty S@P&EIUGD 2
n
———P 2 chenaid -
2. anp ——)' , }(— 2.@0m
A ugeSesd sk Qe B sflay afavad e Geop
C)  ghop ayfl Geow D) uevapl Gemp.
' " In an optic fibre, the core is of refractive index as shown., It is known as a
, n
—~—--—~>Cofe' ®—-
Cladding _»’ '(—- Cladding
A} step index fibre B)  graded index fibre
€) single mode fibre D}  multimode fibre.
198. Qurgieurs Tl QuIrBLEE&GD grar Ut egpefl o Blpaseh saafldamaure
- el 2 Blpas@norear e '
) A} e 80 - . B) e~ 10
Q) et D) e*3,
. Generally for all materials, the ratio of stimulated emission to spontaneous
emission is _ -
A e | B e %
Q) et 40 D} et 80
xx [1601] t 16001 [ Turn over .
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Vibrational spectra are studies using light of wave number

'A) 14,000 cm~'t0 25,000 cm-!  B) 25,000 cm-! to 50,000 cm - !
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199. gighseaeand goslluwrs enés Casfldr aluaty 2 gadlng 2
A grow BeTluedoiy B gfludy
C) CrpiGam o uyeaud D) @ég&ql

A laser is used to measure distances accurately because of its

A} monochromaticity B). coherence
C) non-divergent nature - D) intensity.
200. SiUpQeToE JUDDH FHDSE® .o, Hlemaullés 2 efen ai@]é.&,éﬂdn :
THTDNNGHDE  oocvvrnrieneeenin Bevafles o_oier ygmsselea aanaiémsay ol
- ydlab. ' . -
A)  geoy Hleoe, dlertsHybm B) dentsdlypw, geqblene -
C}  GuewiL, SpwlL ‘ | D) gL, Guennl L.
In population inversion, number of atoms in ....................... state is greater
than the number of atoms in .........ccccoeeuveen... state. - '
A) ground, excited B) excited, ground
C) higher, lower _ D) lower, higher.

xx 16001
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Booklet Series B . Register |
Number

2010
PHYSICS

Time Allowed : 3 Hours |} [ Maximum Marks : 300

} Read the following instructions carefully before you begin to answer the questions.

IMPORTANT INSTRUCTIONS

1. This Booklet has a cover [ this page )} which should not be opened till the invigilator gives signal to
open it at the cominencement of the examination. As soon as the signal is received you should tear
the right side of the booklet cover carefully to open the booklet. Then proceed to answer the

questions. '
2. This Question Booklet contains 200 questions.
3. Answer all questions. All questions carry equal marks.

The Test Booklet is printed in four series e.g. or [D](See Top left side of this page).
The candidate has to indicate in the space provided in the Answer Sheet the series of the booklet.

For example, if the candidate gets series booklet, he/she has to indicate in the side 2 of the
Answer Sheet with Blue or Black ink Ball point pen as follows :

[A] (81 1CI1(D)

5. You must write your Register Number in the space provided on the top right side of this page. Do
not write anything else on the Question Booklet,

6. An Answer 3heet will be supplied to you separately by the Invigilator to mark the answers. You
must write your Name, Register No. and other particulars on side 1 of the Answer Sheet provided,
failing which your Answer Sheet will not be evaluated.

7. You will also encode your Register Number, Subject Code etc., with Blue or Black ink Ball point pén
in the space provided on the side 2 of the Answer Sheet. If you do not encode properly or fail to
ericode the above information, your Answer Sheet will not be evaluated.

8. Each question comprises four responses (A}, (B), (C) and (D). You are to select ONLY ONE correct
response and mark in your Answer Sheet. In case you feel that there are more than one correct
response, mark the response which you consider the best. In any case, choose ONLY ONE response
for each question. Your total marks will depend on the number of correct responses marked by you
in the Answer Sheet.

9. In the Answer Sheet there are four brackets [ A ][ B {[ € | and | D | against each question. To
answer the questions you are to mark with Ball point pen ONLY ONE bracket of your choice for
each question. Seléct one response for each question in the Question Booklet and mark in the

Answer Sheet, If you mark more than one answer for one guestion, the answer will be treated as
wrong. e.g. If for any item, (B) is the correct answer, you have to mark as follows ;

(A} [ (C} (D)

10.  You should not remove or tear off any sheet from this Question Booklet, You are not allowed to take

P this Question Booklet and the Answer Sheet out of the Examination Hall during the examination.

After the examination is concluded, you must hand over your Answer Sheet to the Invigilator. You
. are allowed to take the Question Booklet with you only after the Examiriation {s over.
11. The sheet before the last page of the Question Booklet can be used for Rough Work,
12.  Failure to comply with any of the above instructions will render you liable to such action or penalty
as the Commission may-décide at their discretion. '
13, In all matters and in cases of doubt, the English Version is final.
14." Do not tick-mark or mark the answer in the Question Booklet.
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